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1. Ifpxq=p+q+, what is the value of 8 x 2 ? 

(1) 6 

2. If 0.13 x p = 13, then p is equal to : 
(2) 0.01 (1) 10 

(1) 14 

(1) 5 

3. If A = (5, 6) and B = (7, 8), then what is the number of relations from A to B ? 

(1) 22 

(1) 0 

(2) 10 

(1) 1 

6. (sin30° + cos30) -(sin 60° + cos 60°) : 

(2) 23 

4. If A =|1, 2, 3, 4, 5, 7, 8, 9) and B = (2, 4, 6, 7, 9), then find number of proper subsets of 

AnB? 

5. The magnitude of the vector 6i + 2j + 3k: 

(1) 15 

(2) 15 

(1) 2.3 m 

(2) 6 

(1) 5/91 
(3) 4/105 

(2) 1 

(3) 14 

(3) 0.001 

(2) 2 

7. Ifx=7-4V3, then what is the value of vx +? 

(3) 24 

(2) -15 

(3) 32 

(2) 4.6 m 

8. The scalar product of 5i+j- 3k and 3i -4j + 7k is : 

(3) 7 

(3) 2 

(3) 3 

1. 

(3) 10 

(4) 16 

(3) 7.8 m 

(4) 100 

(2) 1/3 

(4) 25 

9. The angle of elevation of a ladder leaning against a wall is 60° and the foot of the 

ladder is 4.6 m away from the wall. The length of ladder is : 
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(4) 33 

(4) 8 

(4) -1 

(4) 4 

(4) -10 

10. An urn contains 6 red, 4 blue, 2 green and 3 yellow marbles. If two marbles are 

picked up at random, what is the probability that either both are green or both are 

yellow ? 

1 

(4) 9.2 m 

(4) None of the above 

P.T. O. 
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11. Choose missing pattern : 
QPO, NML, KJI, -, EDC 
(1) HGF 

FISH: SCHOOL 

12. Choose the correct relation similar to following: 

(1) Herd: Peacock 

(3) Cow : Farm 

(1) 15 

(1) 20 

13. Find the minimum number of straight lines required to make the given hgure . 

(1) Jyoti 

(2) CAB 

B 

G 

(1) O 

(2) 21 

14. Find the minimum number of straight lines in the below figure : 

K 

U 

(2) 19 

(2) Raman 

(3) JKM 

15. Vineet is taller than Raman but shorter than Jyoti. Sumit is the shortest. Deepak taller than Sumit but shorter than Raman. Who is the tallest ? 

16. Select the missing letter from the given options : 
I 

(2) Wolf : Pack 

B 

2 

(4) Elephant : Jungle 

(2) M 

(3) 18 

(3) 17 

(4) GHD 

(3) Vineet 

(3) K 

(4) 20 
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(4) 15 

(4) Deepak 

(4) P 
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17. Select the Answer figure that fits in the blank space in the given P'roblem figure: 
Problem Figure 

Answer Figures: 

(1) D (2) C 

HEALTHY 

(1) 1 

mirror is placed horizontally below the word : 

A B C D 

18. Select the option that depicts the correct mirror image of the given word when the 

(2) 2 

(3) B 

(2) v 

1. HEYlHA 
2. YHTLA3H 

3. Y HTJA3H 
4. YHT LAEH 

(3) 3 

(4) A 

19. Which of the following part is a part of both circle and triangle? 

(3) o (1) e 
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3 

(4) c 
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20. The proportion of male students and the proportion of vegetariarn students in as school 

are given below. The school bas a total of 800 studernts, 80% of whom are In the 

secondary section and rest equally divided between class 11 and 12 

What is the percentage of vegetarian student ín class 11 

Class 12 

(1) 40 

Class 11 

Secondary Section 
Total 

Male (M) 

(2) 45 

(1) Band D 

0.60 

0.55 

0.275 (288) 
0.475 

B. The Italian drink tea. 

(2) Cand F 

Vegetarian (V) 

(3) 60 

21. Answer the questions on the basis of the information given below : 

Seven varsity basketball players A, B, C, D, E, F and G are to be honoured at a 
special luncheon. The players will be seated on the dais in a row. A and G have to 
leave the luncheon early and so must be seated at the extreme right. B will receive the 
most valuable player's trophy and so much be in the centre to facilitate presentation. 
Cand D are bitter rivals and therefore, must be seated as far apart as possibie. 

Which of the following pairs cannot be seated together ? 

0.54 

A. The Englishman lives in the red house. 

0.50 

0.55(352) 
0.53 

F. The Spaniard drinks fruit juice. 
G. Tea is drunk in the blue house. 

(3) D and G 

22. Read the text and the statements carefully, and answer the questions 
Four people of different nationalities live on the same side of a street in four houses 
each of different colors. Each person has a different favorite drink. The following 
additional information is also known: 

C. The Norwegian lives in the first house on the left. 
D. In the second house fromn the right they drink milk. 

E. The Norwegian lives adjacent to the blue house. 

(4) 65 

(1) Milk (2) Cocoa (3) Tea 
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H. The white house is to the right of the red house. 
The Norwegian drinks : 

(4) E and A 

(4) Fruit }Juice 
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23. Answer the questions on the basis of the information given below: A, B, C, D, E and F are a group of friends. There are two house wives, one professor, one engineer, one accountant and one lawyer in the group. There are only two married couples in the group. The lawyer is married to D, who is a housewife. No women in the group are either an engineer or an accountant. C, the accountant, is married to F, who is a professor. A is married to housewife. E is not a housewife. How many members of group are males ? 
(1) 1 

(2) 3 

(3) 4 

(4) Cannot be determined 
24. The first and the last parts of the sentence are numbered 1 & 6. The rest of the 

sentence, is split into four parts and named P, O, R and S. These four parts are not 
given in their proper order. 
Read the sentence and find out which of the four combinations is correct ? 

1. It was obvious 

P. made by him 

Q. submitted at the meeting 

R. from the comments 

S. on the draft proposals 

6. that he was not satisfhed with them. 

(1) QRSP 

(3) RPSQ 

(1) 7 

(2) SORP 

(2) 8 

(4) PSRQ 

25. In an examination the average marks of Rohit are 63. If he got 20 more marks in 

Science and 28 more marks in Mathematics, then his average would have been 69. 

Find the total number of subjects he studied: 

5 

(3) 10 
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(4) 12 
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20. Study the following pie-chart carefully to answer these questions : 

(1) Rs. 4 lacs 

Physics 

Chemistry 

Total Expenditure: Rs. 60 Lacs 

Subjects 

Purchase of 
overhead 

projectorsfor Ph.D. 
classes 24% 

Average (Aggregate) 

(1) 3 

Publicaton of 
Journals 15% 

What is the difference between the expenditure made by university for Publication of Journals and Psychology Laboratory ? 
(2) Rs. 3 lacs 

Expenditure of funds by University for various purpose 

27. Study the following table and answer the questions: 
Classification of 100 students based on the marks obtained by them in Physics and 
Chemistry in an Examination: 

40 and 

(2) 4 

above 

rchase ofbooks for 

library 6% 

9 

4 

7 

Sports12% 

30 and 

above 

32 

PSYchology 

21 

laboratory 105 

Compüter 
aboratory186 

27 

(3) Rs. 4.2 lacs (4) Rs. 3.8 lacs 

(3) 5 

Marks out of 50 

20 and 10 and above 0 and albove 
above 

80 

66 

73 

92 
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81 

87 

What is the difference between the number of students passed with 30 as cut-off 
marks in Chemistry and those passed with 30 as cut-off marks in aggregate? 

100 

(4) 6 

100 

A 

100 
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28. Answer the questions based on the following information : 

A, B, C and D are to be seated in a row. But C and D cannot be together. Also B 

cannot be at the third place. If A and B are together, then which of the following must 

be necessarily true? 

(1) Cis not at the first place 

(3) D is at the first place 

29. Answer the questions on the basis of the following information: 

Four families decided to attend the marriage ceremony of one of their colleagues. 

One family has no kids, while the others have at least one kid each. Each family with 

kids has at least one kid attending the marriage. 

Anil is not the husband of Joya. 

(2) A is at the third place 

Given below some information about the families, and who reached when to attend 

the marriage : 

The family with 2 kids came just before the family with no kids. 

Anil and Raj are fathers. 

(4) 

Shanti who does not have any kids reached just before Sridevi's family. 

Sunil and his wife reached last with their only kid. 

C is at the first place 

Sridevi's and Anita's daughters go to the same school. 

(1) Raj and Shanti 

Joya came before Shanti and met Anita when she reached the venue. 

Raman stays the farthest from the venue. 

Raj said his son could not come because of his exams. 

Name the correct pair of husband and wife: 

(2) Sunil and Sridevi 

(3) Anil and Sridevi 

7 

(4) Raj and Anita 

PG-EE-June, 2023/(Computer Science Group) (SET-X)/(A) P.T. O. 



30. Answer the questions on the basis of the information given below: 

Ine seven basic symbols in a certain numeral system and their respective values are 
as follows : 

I=1, V=5, X = 10, L = 50, C= 100. D= 500 and M = 1000 
In general, the symbols in the numeral system are read from left to right, starting with 
the symbol representing the largest value; the same symbol cannot occur 
continuOusly more than three times: the value of the numeral is the sum of the values 
of the symbols. For example, XXVII = 10 + 10 + 5 + 1+1=27. An exception to the 
left to right reading occurs when a symbol is followed immediately by a symbol of greater value; then, the smaller value is subtracted from the larger. 
For example, XLVI = (50 � 10) +5 +1= 46. 
The value of the numeral MCMXCIX is : 

(1) 1999 

(1) 40 

(2) 1899 

31. Aman is 16th from the left end in a row of boys and Vivek is 18th from the right end. Gagan is 11th from Aman towards the right and 3rd from Vivek towards the right 
end. How many boys are there in the row ? 

(1) 10 

(1) 40 

(2) 48 

(3) 1989 

898762 263269732872778 73779 4 

(2) 3 

(3) 42 

32. How many 7's are there in the following series which are not immediately followed 
by 3 but immediately preceded by 8 ? 

(2) 48 

(3) 2 

A 

(4) 1889 

(3) 55 

(4) 41 

33. Manisha ranked sixteenth from the top and twenty-ninth from the bottom among 
those who passed an examination. Six boys did not participate in the competition and 
five failed in it. How many boys were there in the class ? 

G-EE-Jun e, 2023/(Computer Scien ce Group)(SET-X)/(A) 

(4) 0 

(4) 58 
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a4. In a list, the rank of Mahesh was 16 from the top and whereas from bottom, the rank 

is 29. Ihe Iist was about the passed-out students. Six students were failed due to non 

particapation and 5 were failed. Find the total number of students present in the class. 

(1) 55 

(1) 2 

(2) 54 

35. If xX means +- means x, + means + and + means -, then (3- 15 +19) x 8+6= ? 

(1) 80 

(2) -1 

(2) 85 

(1) 13C13A13B13D13 = 157 

36. A Sum of Rs.1 890 has to be used to give 9 prizes to the customers of a super market 

for their overall academic purchases. If each prize is Rs. 30 less than its preceding 

price, what is the least value of the price ? 

(2) 18C16D49A27B9 = 200 

(3) 3A12B16D17C1= 163 

Arguments : 

(4) 5C7A9D8B2 = 294 

37. If"A" denotes "subtracted from", "B" denotes "added to", "C" denotes "divided by', 

"D" denotes "multiplied by", then which of the following statement is correct ? 

during their old age ? 

(3) 53 

(3) 4 

(1) Only Argument I is strong 

I. Yes. Such matter can only be solved by legal means. 

(2) Only Argument Il is strong 

(3) 90 

38. Statement: Should children be legally made responsible to take care of their parents 

II. Yes. Only this will bring some relief to poor parents. 

(3) Either I or II is strong 

(4) Neither I nor II is strong 

(4) 52 

(4) 8 

PG-EE-June, 2023/(Computer Science Group) (SET-X)/(A) 

9 

(4) 95 

P.T. O. 
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39. Statement : Should fashionable dresses be banned ? 

Arguments : 

1Tes. Fashions keep changing and hence consumption of cloth increases. 

l. No. Fashionable clothes are a person's sel f-expression and therefore his/ her 

fundamental right. 
(1) Only Argument I is strong 

(2) Only Argument II is strong 
(3) Either I or II is strong 
(4) Neither I nor I| is strong 

40. Statement : Should 'computer knowledge' be made a compulsory subject tor al the 
students at secondary school level ? 

Arguments : 
I. No, our need is 'bread' for everyone, we cannot follow western models. 

II. Yes. We cannot compete in the international market without equipping our 
children with computers. 

(1) Only Argument I is strong 
(2) Only Argument II is strong 
(3) Either I or II is strong 
(4) Neither I nor II is strong 

41. On reaching the railway station, you find that the train you wanted to catch is just to 
start and there is hardly any time for purchasing the ticket. The best thing for you is 
to : 

(1) rush to the train rather than miss it and inform the T.TI. at the next stoppage 

about your inability to purchase the ticket. 
(2) rush to the train and perform your journey quietly. 
(3) first purchase the ticket and then catch the train if it is there. 

(4) miss the train rather than take the risk of boarding the movìng train. 

PG-EE-June, 2023/(Computer Science Group)(SET-X/(A) 
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42. Assertion : The problem solving ability, mental performance and memory of the employees of company C are deteriorating RI. Due to tight schedule at company C, the employees of the company are skipping their breakfast regularly. 
RII. The job is physical in nature, but not mental. 
(1) Only RI and not RII is the reason for the assertion. 
(2) Only RII and not RI is the reason for the assertion. 
(3) Either RI or RII, but not both, is the reason for the assertion. 
(4) Neither RI nor RII is the reason for the assertion. 

43. Assertion : During polling season, new roads are constructed, there is twenty-four 
hours of power supply, good supply of water, and many other facilities 
are provided to the people. 

RI. Political leaders want to be in the good books of the people. 
RII. Polling season that is the right time to convert black money to white money in the 

name of party funds for the industries. 

(1) Only RI and not RII is the reason for the assertion. 
(2) Only RII and not RI is the reason for the assertion. 
(3) Either RI or RII, but not both, is the reason for the assertion. 

(4) Neither RI nor RII is the reason for the assertion. 

44. Statements : All Carrots are birds. Some telephones are Carrots. All bedsheets are 

Conclusion : 

I. 

telephone. 

All bedsheet are birds 

II. Some bedsheet are birds 

11 

II. Some birds are telephone 
IV. All telephone are birds 
(1) Only I follows 

(3) Only I and II follows 
(2) Only II follows 
(4) Only III follows 

PG-EE-June, 2023/(Computer Science Group) (SET-X)/(A) P. T. O. 
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45. Statements: Some pearls are gems. All germs 
Some stones are corals. 

Conclusions : 

I. Some stones are pearls. 
II. Some corals being diamond is possibility. 
II. No stone is pearl. 
(1) Only conclusion I is true 

(2) Both conclusion I and III are true 

(3) Either conclusion I or II is true 

(4) None of the above 

46. Nitin ranks 18th ina class of 49 students. What is rank from the last ? 

(1) 31 

(1) None 

tomorrow ? 

(2) 18 

(1) Friday 

47. How many such digits are there in the number 7346285 which are as far away from 
the beginning of the number, as they will be when arranged in ascending order 
within the number ? 

(2) One 

(1) 10 

(3) 32 

(2) Thursday 

are diamonds. No diamond 

(2) 9 

(3) Two 

48. If the day before yesterday was Saturday, what day will fall on the day after 

(3) Wednesday 

(4) 19 

(3) 8 

(4) Three 
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49. If the digits in the number 25673948 are arranged in ascending order from left to 
right, what will be the sum of the digits which are fourth from the right and third 
from the left in the new arrangement ? 

A 

(4) Tuesday 

is storme. 

(4) 6 
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50. There are 6 persons A, B, C, D, E and Fwho have different rank in class test exam. 
Person A got last rank in class. E was not first in class test rank. B got more markS 
than C, but he did not get second rank in class. E got more marks than only A. F was 
situated between D andB in class test ranking, and B score less than D. The second 
highest person got 92 marks. 
D got which of the following possible marks ? 
(1) 89 

(1) RAM 

(3) Adobe Reader 

51. Which of the following is the computer system's hardware compornent ? 

52. How many bits are there in 1 nibble ? 

(1) 4 

(2) 92 

53. What is the full form of USB ? 

(2) 8 

(1) Universal Sequential Bus 
(3) Universal Serial Bus 

(1) 2 

(3) 93 

(2) 4 

57. Which of the following is true ? 

54. What one of the following is volatile memory ? 
(1) RAM (2) ROM 

(1) 1 gigabyte is equal to 1024 kilobyte 

(4) None 

(2) Keyboard 
(4) ROM 

55. What is the length of character in ASCII codes ? 

(2) 8 (1) 4 (3) 7 

(3) Hexadecimal system have 16 bits 

(3) 16 

56. What is the value of binary number 011 ? 

(2) Unique Serial Bus 

(4) Unique Sequential Bus 

(3) EPROM 

(2) Decimal number system cannot contain binary digits 

(4) 88 

(3) 3 

(4) 24 

PG-EE-June, 2023/(Computer Science Group) (SET-X)/(A) 

(4) PROM 

(4) 6 

13 

(4) 7 

P.T. O. 
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58. What is the octal representation of (011101) ? 

(1) 35 

59. Which is the largest unit of storage ? 

(1) Kb 

(1) 512 

(2) 45 

60. How many values can be represented by one byte ? 

61. What is the full form of WORM ? 

(2) Mb 

(1) Write Once, Read More 

(2) Write Over, Read Mode 

(2) 64 

(3) Write Once, Read Many 

(1) 3567 

(4) Write Out, Read Many 

63. MSD refers to ? 

(1) Many Significant Digit 

(1) 11110001 

(2) 1600 

(2) Most Significant Dècimal 

62. What of the following is octal representation (in 4 digits) of decimal number (896) ? 

(3) Multiple Significant Digit 

(4) Most Significant Digit 

(1) OA23 

64. 2's complement of -14 ? 

(3) 34 

(2) 10010010 

(3) Zb 

(2) AB14 

(3) 256 

(3) 1701 

65. Which of the following is invalid hexadecimal ? 

(3) 11100001 

(3) XA23 

(4) 54 
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(4) Yb 

(4) 8 

(4) 1654 

(4) 01010110 

(4) 1234 



66. Which of the following is false ? 

(1) 2's complement of a 2's complement of a number I the number itself. 
(2) Excess-3 code for 369 is (011110011100 
(3) 1-bit gray code has two code words 0 and 1 
(4) In 7-bit hamming code of BCD, the parity bits are placed at 1, 2 and 4 

locations. 

67. What is bootstrapping called? 

(1) Hot Boot 

(3) Cold hot strap 

(1) Operating System 

68. Which of the following is system software ? 

(3) Compiler 

(1) Debit Card 

(3) Metro Card 

69. Which of the following payment card has a microchip embedded in its surface ? 

(1) Circular Wait 

(3) Hold and Wait 

(2) Cold Boot 

(1) TELNET 

(4) Hot bootstrap 

70. Which of the following is a condition that causes deadlock ? 

(2) HTTP 

(1) 1 

(2) Utilities 

(4) All of the above 

(2) 2 

(2) Credit Card 

(4) Charge Card 

71. A user can get files from another computer on the Internet by using: 

(2) Mutual Exclusion 

(4) All of the above 

72. Transport layer is at which level in TCP/ IP model ? 

(3) FTP 

(3) 3 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(A) 

(4) UTP 

15 

(4) 4 

P.T.O. 
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78. 

73. Which tag is used for displaying large font size ? 

76. 

(1) <BIG></BIG 

(2) <LARGE></LARGE> 

(3) <SIZE></SIZE> 

(4) <FONT></FONT> 

74. Which among the following language is better for structured coding ? 
(1) BASIC 

75. What type of scheduling is round-robin scheduling ? 

(1) Linear Data Scheduling 
(2) Preemptive Scheduling 

(2) PASCAL 

(3) Non-linear data scheduling 
(4) Non-Preemptive Scheduling 

(1) Multiprogramming 

(3) Multitasking 

allows more than one program to be ready for execution and provides the 
ability to switch from one task to another. 

(1) <scroll></scroll> 

77. Which html tag is used to scroll text in a Web Page ? 

(2) <round></round> 

(3) <marquee></marquee> 

(4) <go></go> 

(3) FORTAN 

(1) Process 

(2) Multithreading 

(2) Task 

is single sequential flow of control in a program. 

(4) None of the above 

(4) PL/1 

(3) Thread 

PG-EE-June, 2023/(Computer Science Group) (SET-X)/(A) 
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(4) Structure 
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79. Which among the following is the property of Unix O5 ? 
(1) Multi-user 

(3) Multi-tasking 

(1) <img> 

80. Which of the following is not a paired tag ? 
(2) <u> 

(1) Windows NT 

(3) Windows XP 

81. Which among the following OS does not implement multitasking truly ? 

(1) 1's complement 
(3) 2's complement 

(1) Decimal number system 

82. In computers, subtraction is carried out by: 

(3) Binary number system 

84. Cache memory acts between : 

(1) RAM and ROM 

(3) CPU and Hard Disk 

85. 101111 - 010101 = ? 

(1) 100100 

(2) Time Sharing 

83. Which of the following is not the weighted code ? 

(2) 011010 

(4) All of the above 

86. Keyboard shortcut for redo : 

(1) Ctrl +Z (2) Ctrl+ Y 

87. 1101 + 1100 in binary arithmetic? 

(1) 11001 

(3) <b> 

(2) 1100 

(2) Windows 98 

(4) MS DOS 

(2) 9's complement 

(4) 10's complement 

(2) Excess-3 code 

(4) None of the above 

(2) CPU and RAM 

(4) None 

(3) 011001 

(4) <p> 

(3) Ctrl + X 

(3) 1001 

PG-EE-June, 2023/(Computer Science Group) (SET-X)/(A) 

(4) 110011 

(4) Shift + Y 

(4) 0011 

17 

P. T. . 
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88. The address technique employed by a CPU is : 
(1) Direct 

(3) Immediate 

(1) Ctrl + Tab 

(3) Shift + Tab 

89. Keys to switch between applications running in Windows OS: 

90. (10.10) x (01.01) 
(1) 011.0010 
(3) 001.1101 

91. Fill in the blank : 
The river Thames flows 
(1) through 

Talk through one's hat 

(1) To talk secretly 
(3) Talk good points 

VENT 

(1) End 

(2) on 

(3) Opening 

(2) Indirect 

(4) 

(1) Mandatory 

(3) Very clear 

92. In the following choose the one which best express the meaning of the idiom/phrase : 

All of the above 

(2) Alt + Tab 

(4) Fn + Tab 

(2) 110.0011 

(4) None of the above 

London. 

(3) over 

93. Choose the word which best expresses the meaning of the given word: 

(2) Talk positively 

(4) Talk nonsense 

94. My father's dealings are open and above board. 

(2) Storage 
(4) Past tense of Go 

(4) in 

(2) Without any secret 
(4) To everyone's liking 

PG-EE-June, 2023/(Computer Science Group) (SET-X)/(A) 
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95. Choose the word which best expresses the meaning of the given word: 

COMBAT 

(1) Conflict (3) Feud 

96. Read the passage and choose most relevant answer : 

(2) Quarrel 

Erosion of America's farmland by wind and water has been a problem since settlers 

first put the prairies and grasslands under the plow in the nineteenth century. By the 

1930s, more than 282 million acres of farmland were damaged by erosion. After 40 

years of conservation efforts, soil erosion has accelerated due to new demands placed 

on the land by heavy crop production. In the years ahead, soil erosion and the 

pollution problems it causes are likely to replace petroleum scarcity as the nation's 

most critical natural resource problem. 

As we understand from the reading, today, soil erosion in America 

(1) is worse tharn it was in the nineteenth century 

(2) is the most critical problem that the nation faces 

(3) causes humans to place new demands on the land 

(4) is worse in areas which have a lot of petroleum production 

I. In a masterly way 

97. In the following question, a sentence has been broken into parts and the parts have 

been scrambled and numbered. Choose the correct order of these parts from the given 

alternatives. 

II. Munshi Premchands works, especially fiction 

II. Have been analysed and critiqued 

(4) Fight 

IV. In the next chapter 

(1) II IIIIIV 
(2) IM IIIV 

(1) Movement 

(3) IV II II I 

98. Fill in the blank with the most appropriate word from the options given below : 

19 

A good driver will be very careful before carrying out a complex 

(2) Manoeuvre (3) Motion 

(4) III III IV 

FG-EE-June, 2023/(Computer Science 
Group)(SET-X)/(A) 
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99. S1: A noise started above their heads. 

P: But people did not take it seriously. 
Q: It was to show everyone that there was something wrong. 

R:Itwas a dangerous thing to do. 
S: For, within minutes the ship began to sink. 

S6 : Nearly 200 lives were lost on the fateful day. 
The proper sequence should be : 
(1) PQSR 

Q: But she did not. 

(2) PRQS 

100. S1: She said on the phone that she would report for duty next day. 
P:Wewaited for few days then we decided to go to her place. 

R:We found it locked. 

(3) QPRS 

S: Even after that we waited for her quite a few days. 

S6 : Eventually we reported to the Police. 
The proper sequence should be: 

(2) QPSR (1) PRSQ (3) QPRS 

(4) QPSR 

PG-EE-June, 2023/(Computer Science Group) (SET-X)/(A) 
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1. A user can get files from another computer on the Internet by using: 

(1) TELNET 

2. Transport layer is at which level in TCP/ IP model ? 

(1) 1 

6. 

(1) <BIG></BIG> 

(2) HTTP 

3. Which tag is used for displaying large font size ? 

(2) <LARGE></LARGE> 

(2) 2 

(3) <SIZE></SIZE> 

(4) <FONT></FONT> 

(1) BASIC 
4. Which among the following language is better for structured coding? 

(2) PASCAL (4) PL/1 

(1) Linear Data Scheduling 

5. What type of scheduling is round-robin scheduling ? 

(3) Non-linear data scheduling 

(3) Multitasking 

(1) Multiprogramming 

(3) TP 

(3) 3 

(1) <scroll></scroll> 

(2) <round></round> 

(4) <go></go> 

(3) <marquee></marquee> 

(3) FORTAN 

allows more than one program to be ready for execution and provides the 
ability to switch from one task to another. 

(4) UTP 

7. Which html tag is used to scroll text in a Web Page ? 

(4) 4 

(2) Preemptive Scheduling 

(4) Non-Preemptive Scheduling 

(2) Multithreading 

(4) None of the above 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(B) 
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8. 

(1) Process 

(1) Multi-user 

9. Which among the following is the property of Unix OS? 

(3) Multi-tasking 

is single sequential flow of control in a program. 

(1) <img> 

(1) RAM 

10. Which of the following is not a paired tag? 

(3) Adobe Reader 

(1) 4 

(2) Task 

12. How many bits are there in 1 nibble ? 

(2) <u> 

13. What is the full form of USB ? 

(2) Unique Serial Bus 

(2) 8 

(1) Universal Sequential Bus 

11. Which of the following is the computer system's hardware component ? 

(3) Universal Serial Bus 

(1) 4 

(4) Unique Sequential Bus 

(1) 2 

(3) Thread 

(2) 

16. What is the value of binary number 011 ? 

(4) 

(2) 4 

14. What one of the following is volatile memory ? 

(1) RAM (2) ROM 

(3) <b> 

Time Sharing 

15. What is the length of character in ASCII codes ? 

(2) 8 (3) 7 

(2) Keyboard 

All of the above 

(4) ROM 

(3) 16 

(3) EPROM 

(3) 3 

(4) Structure 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(B) 
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17. Which of the following is true ? 

(1) 1 gigabyte is equal to 1024 kilobyte 
(2) Decimal number system cannot contain binary digits 

(3) Hexadecimal system have 16 bits 

(4) None 

18. What is the octal representation of (011101) ? 
(1) 35 (2) 45 

19. Which is the largest unit of storage ? 

(1) Kb 

(1) 512 

20. How many values can be represented by one byte? 

(1) 40 

(2) Mb 

(2) 64 

(1) 10 

(2) 48 

(1) 40 

(3) 34 

(3) Zb, 

21. Aman is 16th from the left end in a row of boys and Vivek is 18th fromn the right end. 

Gagan is 11 th from Aman towards the right and 3rd from Vivek towards the right 
end. How many boys are there in the row ? 

(2) 3 

(3) 256 

898762263269732872778737794 

(2) 48 

(3) 42 

22. How many 7s are there in the following series which are not immediately followed 
by 3 but immediately preceded by 8? 

(3) 2 

(4) 54 

(4) Yb 

(3) 55 

(4) 8 

G-EE-June, 2023/(Computer Science Group)(SET-X/(B) 
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23. Manisha ranked sixteenth from the top and twenty-ninth from the bottom among 
those who passed an examination. Six boys did not participate in the competition and 
five failed in it. How many boys were there in the class ? 

3 
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24. In a list, the rank of Mahesh was 16 from the top and whercas from bottom, the rank 
1S 29. The list was about the passed-out students. Six students were failed due to non 
participation and 5 were failed. Find the total number of students present in the class. 
(1) 55 

(1) 2 

(2) 54 

20. lI X means +, -means x, ÷ means + and + means -. then (3 - 15÷ 19) X Þ t 6 =! 

(1) 80 

(2) -1 

(2) 85 

25. A sum of Rs.1 890 has to be used to give 9 prizes to the customers of a super market for their overall academic purchases, If each prize is Rs. 30 less than its preceding price, what is the least value of the price? 

(1) 13C13A13B13D13 = 157 
(2) 18C16D49A27B9 = 200 

(3) 3A12B16D17CI = 163 

Argumets : 

(4) 5C7A9D8B2= 294 

27. If°A" denotes "subtracted from" "B denotes "added to", "C" denotes "divided by', "D" denotes "multiplied by", then which of the following statement is correct ? 

(3) 53 

(3) 4 

(1) Only Argument I is strong 

I. Yes. Such matter can only be solved by legal means. 

(2) Only Argument II is strong 

(3) 90 

28. Statement: Should children be legally made responsible to take care of their parents during their old age ? 

II. Yes. Only this will bring some relief to poor parents. 

(3) Either I or II is strong 
(4) Neither I nor II is strong 

(4) 52 

(4) 8 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(B) 
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29. Statement : Should fashionable dresses be banned ? 

Arguments : 

Yes. Fashions keep changing and hence consumption of cloth incrcases. 

I. No. Fashionable clothes are a person's self-expression and thereforc his/her 
fundamental right. 

(1) Only Argument l is strong 

(2) Only Argument Il is strong 

(3) Either I or II is strong 
(4) Neither I nor Il is strong 

30. Statement : Should 'computer knowledge' be made a compulsory subject for all the 
students at secondary school level ? 

Arguments : 
I. No, our need is 'bread' for everyone, we cannot follow western models. 

II. Yes. We cannot compete in the international market without equipping our 
children with computers. 

(1) Only Argument I is strong 
(2) Only Argument I is strong 
(3) Either I or II is strong 

(4) Neither I nor II is strong 

31. Choose missing pattern: 

QPO, NML, KJI, -, EDC 
(1) HGF (2) CAB (3) JKM 

32. Choose the correct relation similar to following : 

FISH: SCHOOL 

(1) Herd: Peacock 

(3) Cow : Farm 

(2) Wolf: Pack 

5 

(4) GHD 

(4) Elephant : Jungle 
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33. Find the minimum number of straight lines required to make the given hgure : 

(1) 15 

(1) 20 

34. Find the minimum number of straight lines in the below figure : 

(1) Jyoti 

(3) Vineet 

E 

G 

(2) 21 

35. Vineet is taller than Raman but shorter than Iyoti. Sumit is the shortest. Deepak is 
taller than Sumit but shorter than Raman, Who is the tallest ? 

(1) O 

(3) K 

(2) 19 

K 

(3) 18 

36. Select the missing letter from the given options : 

(3) 17 

B 

(2) Raman 

(4) Deepak 

(2) M 

(4) 20 

(4) P 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(B) 
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37. Select the Answer figure that fits in the blank space in the given Problem figure: 
Problem Figure 

Answer Figures : 

(1) D 

HEALTHY 

(1) 1 

(2) C 

(1) e 

(2) 2 

A B C 

38. Select the option that depicts the correct mirror image of the given word when the 

mirror is placed horizontally below the word: 

(3) B 

(2) v 

1. HEYrlHA 
2. YH T LA3H 
3. YHTJAA 

4. Y H T LAEH 

D 

(3) 3 

39. Which of the following part isa part of both circle and triangle ? 

(3) o 

(4) A 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(B) 
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40. The proportion of male students and the proportion of vegetarian students in a school 

are given below. The school has a total of 800 students, 80% of whom are in the 

secondary section and rest equally divided betwcen class 11 and 12: 

(1) 40 

Class 12 

Secondary Section 

Class 11 

Total 

41. Fill in the blank: 

The river Thames flows 

(1) through 

(1) To talk secretly 

VENT 

(1) End 

Talk through one's hat 

(3) Talk good points 

(2) 45 

Male (M) 

(1) Mandatory 

(3) Very clear 

(2) on 

0.60 

0.275 (288) 

COMBAT 

0.55 

0.475 

(2) Storage 

Vegetarian (V) 

(3) 60 

London. 

42. In the following choose the one which best express the meaning of the idiom/phrase : 

(2) Quarrel 

(3) over 

44. My father's dealings are open and above board. 

0.55(352) 

0.54 

43. Choose the word which best expresses the meaning of the given word: 

0.50 

(2) Talk positively 

0.53 

(4) Talk nonsense 

(3) Opening 

(4) 65 

(3) Feud 

(4) in 

(1) Conflict 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(B) 

(2) Without any secret 

45. Choose the word which best expresses the meaning of the given word: 

(4) Past tense of Go 

(4) To everyone's liking 

(4) Fight 

What is the percentage of vegetarian student in class 11 ? 
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46. Read the passage and choose most relevant answer : 

Erosion of America's farmland by wind and water has been a problem since settlers 
first put the prairies and grasslands under the plow in the nincteenth century. By the 
1930s, more than 282 million acres of farmland were damaged by erosion. After 40 
years of conservation efforts, soil erosion has accelerated due to new demands placed 
on the land by heavy crop production. In the years ahead, soil erosion and the 
pollution problems it causes are likely to replace petroleum scarcity as the nation's 
most critical natural resource problem. 
As we understand from the reading, today, soil erosion in America 
(1) is worse than it was in the nineteenth century 

(2) is the most critical problem that the nation faces 
(3) causes humans to place new demands on the land 
(4) is worse in areas which have a lot of petroleum production 

47. In the following question, a sentence has been broken into parts and the parts have 
been scrambled and numbered. Choose the correct order of these parts from the given 
alternatives. 

In a masterly way 

II. Munshi Premchands works, especially fiction 
III. Have been analysed and critiqued 
IV. In the next chapter 

(1) II III I IV (2) III IIIV 

49. S1:A noise started above their heads. 

48. Fill in the blank with the most appropriate word from the options given below : 

A good driver will be very careful before carrying out a complex 
(1) Movement (2) Manoeuvre 

P: But people did not take it seriously. 

(3) IV II III I 

R:It was a dangerous thing to do. 

(3) Motion 

Q: It was to show everyone that there was something wrong. 

S: For, within minutes the ship began to sink. 

(4) III III IV 

S6: Nearly 200 lives were lost on the fateful day. 

The proper sequence should be: 

(1) PQSR (2) PRQS 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(B) 
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b0. S1: She said on the phone that she would report for duty next day. 

P: We waited for few days then we decided to go to her place. 

Q: But she did not. 

R:We found it locked. 

S:Even after that we waited for her quite a few days. 
S6 : Eventually we reported to the Police. 
The proper sequence should be: 

(1) PRSQ 

51. What is the full form of WORM ? 

(1) Write Once, Read More 
(2) Write Over, Read Mode 
(3) Write Once, Read Many 

(2) QPSR 

(4) Write Out, Read Many 

(1) 3567 

53. MSD refers to ? 

52. What of the following is octal representation (in 4 digits) of decimal number (896) ? 

(1) Many Significant Digit 

(2) 1600 

(2) Most Significant Decimal 
(3) Multiple Significant Digit 
(4) Most Significant Digit 

(1) 11110001 

54. 2's complement of -14 ? 

(1) 0A23 

(2) 10010010 

(3) QPRS 

(2) AB14 

(3) 1701 

55. Which of the following is invalid hexadecimal ? 

(3) 11100001 

(3) XA23 

(4) SOPR 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(B) 
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56. Which of the following is false ? 

(1) 2's complement of a 2's complement of a number I the number itself. 
(2) Excess-3 code for 369 is 011110011100 

(3) 1-bit gray code has twO code words 0 and 1 

(4) In 7-bit hamming code of BCD, the parity bits are placed at 1, 2 and 4 
locations. 

57. What is bootstrapping called ? 

(1) Hot Boot 

(3) Cold hot strap 

(1) Operating System 

58. Which of the following is system software ? 

(3) Compiler 

(1) Debit Card 

(3) Metro Card 

59. Which of the following payment card has a microchip embedded in its surface? 

(1) Circular Wait 

(3) Hold and Wait 

(2) Cold Boot 

(1) Windows NT 

(4) Hot bootstrap 

(3) Windows XP 

60. Which of the following is a condition that causes deadlock ? 

(2) Utilities 

(1) 1's complement 

(4) All of the above 

(3) 2's complement 

(2) Credit Card 

(4) Charge Card 

61. Which among the following OS does not implement multitasking truly ? 

(2) Mutual Exclusion 

(4) All of the above 

(2) Windows 98 

62. In computers, subtraction is carried out by : 

(4) MS DOS 

(2) 9's complement 

(4) 10's complement 

11 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(B) P. T. O. 
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63. Which of the following is not the weighted code 
(1) Decimal number system 
(3) Binary number system 

64. Cache memory acts between: 
(1) RAM and ROM 
(3) CPU and Hard Disk 

65. 101111 � 010101 =? 
(1) 100100 

66. Keyboard shortcut for redo : 
(1) Ctrl +Z 

67. 1101 + 1100 in binary arithmetic? 
(1) 11001 (2) 1100 

(1) Direct 

(3) Immnediate 

(2) 011010 

(1) Ctrl + Tab 

70. (10.10) x (01.01) 

(2) Ctrl+ Y 

(1) 011.0010 

to : 

68. The address technique employed by a CPU is : 

(2) Excess-3 code 

(2) Alt + Tab 

(4) None of the above 

(2) 110.0011 

(2) CPU and RAM 

(4) None 

(3) 011001 

(3) Ctrl+ X 

(3) 1001 

69. Keys to switch between applications running in Windows OS: 

(2) Indirect 

(4) All of the above 

(3) Shift + Tab 

(3) 001.1101 

(4) 110011 

(4) Shift + Y 

(2) rush to the train and perform your journey quietly. 

(4) 0011 

71. On reaching the railway station, you find that the train you wanted to catch is just to start and there is hardly any time for purchasing the ticket. The best thing for vou is 

(4) Fn + Tab 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(B) 

(4) None of the above 

(1) rush to the train rather than miss it and infornm the T.TI. at the next stoppage about your inability to purchase the ticket. 

(3) first purchase the ticket and then catch the train if it is there. 
(4) miss the train rather than take the risk of boarding the moving train. 
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72. Assertion : The problem solving ability, mental performance and memory of the employees of company Care deteriorating, RI. Due to tight schedule at company C, the employees of the cornpany are skipp1rng their breakfast regularly. 
RII. The job is physical in nature, but not mental. 

(1) Only RI and not RII is the reason for the assertion. 
(2) Only RIl and not RI is the reason for the assertion. 
(3) Either RI or RII, but not both, is the reason for the assertion. 
(4) Neither RI nor RII is the reason for the assertion. 

73. Assertion : During polling season, new roads are constructed, there is twenty-tour hours of power supply, good supply of water, and many other faalittes are provided to the people. 
RI. Political leaders want to be in the good books of the people. 

RI. Polling season that is the right time to convert black money to white money in the name of party funds for the industries. 
(1) Only RI and not RII is the reason for the assertion. 
(2) Only RII and not RI is the reason for the assertion. 
(3) Either RI or RII, but not both, is the reason for the assertion. 
(4) Neither RI nor RII is the reason for the assertion. 

74. Statements: All Carrots are birds. Some telephones are Carrots. All bedsheets are 

Conclusion : 
telephone. 

All bedsheet are birds 

13 

II. Sormne bedsheet are birds 

I. Some birds are telephone 
IV. All telephone are birds 

(1) Only I follows 
(3) Only I and l follows 

(2) Only Il follows 

(4) Only Ill follows 

PG-EE-June, 2023/(Computer Science Group)(SET-XWB) P. T. O. 
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75. Statements: Some pearls are gems. All gems are diamonds. No diamond is stone. 
Conclusions : 
1. Some stones are pearls. 
I. Some corals being diamond is possibility. 

III. No stone is pearl. 
(1) Only conclusion I is true 

Some stones are corals. 

(2) Both conclusion I and III are true 
(3) Either conclusion I or II is true 
(4) None of the above 

76. Nitin ranks 18th ina class of 49 students. What is rank from the last ? 
(1) 31 

within the number ? 

(1) None 

77. How many such digits are there in the number 7346285 which are as far away trom the beginning of the number, as they will be when arranged in ascending order 

tomorrow ? 

(1) Friday 

(2) 18 

(1) 10 

(2) One 

(3) 32 

78. If the day before yesterday was Saturday, what day will fall on the day after 

(2) Thursday 

(3) Two 

(2) 9 

(3) Wednesday 

(4) 19 

79. If the digits in the number 25673948 are arranged in ascending order from left to right, what will be the sum of the digits which are fourth from the right and third from the left in the new arrangemnent ? 

(3) 8 

(4) Three 
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g0. There are b persons A, B, C. D. E and Fwho bave different rank in class test exam. 

P'erson A got last rank in class. E Was not first in class test rank. B got more marks 
than C, but he did not get second rank in cass. E got more marks than only A. rwa 

Sifuated between D and B in cdass test ranking, and B score less than D. The second 

highest person got 92 marks. 

D got which of the following possible marks? 
(1) 89 

81. Answer the questions on the basis of the information given beloW : 

(1) Band D 

(2) 92 

Which of the following pairs cannot be seated together ? 

(3) D and G 

Seven varsity basketball plavers A, B. C. D, E. F and G are to be honoured at a 

Special luncheon. The players will be seated on the dais in a row. A and G have to 

leave the luncheon early and so must be seated at the extreme right. B will receive the 

most valuable player's trophy and so much be in the centre to facilitate presentation. 

Cand D are bitter rivals and therefore, must be seated as far apart as possible. 

(3) 93 

B. The Italian drìnk tea. 

82. Read the text and the statements carefully, and answer the questions 

A. The Englishman lives in the red house. 

(2) Cand F 

Four people of different nationalities live on the same side of a street in four houses 

each of different colors. Each person has a different favorite drink. The following 

additional information is also known: 

(4) E and A 

C. The Norwegian lives in the first house on the left. 

F. The Spaniard drinks fruit juice. 

D. In the second house from the right they drink milk. 

G. Tea is drunk in the blue house. 

E. The Norwegian lives adjacent to the blue house. 

(1) Milk 

(3) Tea 

H. The white house is to the right of the red house. 

The Norwegian drinks : 

(4) 88 

(2) Cocoa 

15 

(4) Fruit Juice 
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83. Answer the questions on the basis of the information given below: 
A, B, C, D, E and F are a group of friende There are two house wives, orne protess0r, 

One engineer, one accountant and one lawver in the group. There are only two 

married couples in the group, The lawver is married to D, who is a housewife 

INO WOmen in the group are either an engineer or an accountant. C, the acCOUntarnt, is 

married to F, who is a professor. A is married to housewife. E is not a housewite. 
How many members of group are males ? 

S 

(1) 1 

6. 

(2) 3 

(3) 4 

84. The first and the last parts of the sentence are numbered 1 & 6. The rest of the 
sentence, is split into four parts and named P. O, R and S. These four parts are not 
given in their proper order. 

(4) Cannot be determined 

Read the sentence and find out which of the four combinations is correct ? 

P. made by him 

1 It was obvious 

R. from the comments 

Q. submitted at the meeting 

on the draft proposals 
that he was not satisfhed with them. 

(1) QRSP 

(3) RPSQ 

(1) 7 

(2) SQRP 

85. In an examination the average marks of Rohit are 63. If he got 20 more marks in 
Science and 28 more marks in Mathematics, then his aver.age would have been 69. Find the total numnber of subjects he studied: 

(2) 8 

(4) PSRQ 

(3) 10 
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af Study the following pie hat carefully tov answer these 1eatioms 

(1) Rs. 4 lacs 

Physics 

|Chemistry 

Total Fxpenditure : Ra, 60 Lacs 

Subjects 

Average (Aggregate) 

(1) 3 

projectors for th D, 
tlosees 24% 

Purehace of 
overhed 

Publication of 
lourhals 15% 

What is the difference between the expend1ture made by un1vers1ty for Publicatior of 
Journals and Psychology Laboratory ? 

Expenditure of funds by University for various purpose 

(2) Rs. 3 lacs 

87. Study the following table and answer the questions : 

(2) 4 

Classification of 100 students based on the marks obtained by them in Physics and 
Chemistry in an Examination: 

40 and 

urchase of bocks 

abrary 6% 

above 

4 

7 

Sportsi26 

30 and 

32 

tomeuter 
#horatbyi8% 

above 

21 

(3) Rs. 4.2 lacs 

27 

(3) 5 

Marks out of 50 

20 and 

above 

80 

(4) Rs. 3.8 lacs 

73 

PG-EE-June, 2023/(Computer Science Group)(STT-X)/B) 

10 and above 0 and abuve 

81 

What is the diference between the number of students passed with 0 as cutoft 
marks in Chemistry and those passed with 30 as cut ott marks in dygregle 

S7 

17 

l00 

() o 
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88. Answer the questions based on the following informatton: 

y D, and D are to be seated in a rOw But C and D cannot be togetner. Also B 

Cannot be at the third place., If A and Bare together, then which ol the rolowing must 

be necessarily true ? 

(1) C is not at the first place 
(3) D is at the first place 

89. Answer the questions on the basis of the following information : 
Four families decided to attend the marriage ceremony of one of their colleagues. 

One family has no kids, while the others have at least one kid each. Each tamily with 
kids has at least one kid attending the marriage. 
Given below some information about the families, and who reached when to attend 
the marriage : 

Anil is not the husband of Joya. 

(2) A is at the third place 

The family with 2 kids came just before the family with no kids. 

Anil and Raj are fathers. 

(4) 

Shanti who does not have any kids reached just before Sridevi's family. 
Sunil and his wife reached last with their only kid. 

C is at the first place 

Sridevi's and Anita's daughters go to the same school. 

Joya came before Shanti and met Anita when she reached the Venue. 
Raman stays the farthest from the venue. 

(1) Raj and Shanti 

Raj said his son could not come because of his exams. 

Name the correct pair of husband and wife: 

(2) Sunil and Sridevi 

(3) Anil and Sridevi 

(4) Raj and Anita 

PG-EE-June, 2023/(Computer Science Group) (SET-X)/(B) 



Answer the questions on the basis of the information given below : 

The seven basic symbols in a certain numeral syslem and their respective values are 

as tollows: 

|=1, V = 5, X = 10, L.= 50, C= 100, D = 500 and M= 1000 

In general, the symbols in the numeal syslem are read from left to right, starting witn 

the symbol representing the largest value: the same symbol cannot occur 

COntnuously more than three times: the value of the numeral is the sum of the values 

of the symbols. For example, XXVI| = 10 + 10 + 5+1 +1 27. An exception to the 

left to right reading Occurs when a symbol is followed immediately by a symbol of 

greater value; then, the smaller value is subtracted from the larger. 

For example, XLVI = (50 -10) +5+1=46. 

The value of the numeral MCMXCIX is: 

(1) 1999 

91. Ifpxq=p+9+ 

(1) 6 

(1) 10 

92. If 0.13 x p = 13, then p is equal to: 

(2) 0.01 

(1) 22 

AnB? 

(2) 1899 

(1) 14 

E, what is the value of 8 x 2 ? 

(2) 10 

(1) 5 

93. If A = (5,6] and B= (7, 8), then what is the number of relations fromA to B? 

(2) 23 

(1) 0 

(3) 1989 

(2) 15 

(3) 14 

(2) 6 

96. (sin30 + cOs30°) - (sin 60° + cos 60°) : 

(3) 0.001 

95. The magnitude of the vector 6i + 2j + 3k: 

94. If A =(1, 2, 3, 4, 5, 7, 8, 9) and B = (2, 4, 6, 7, 9), then find number of proper subsets of 

(3) 24 

(3) 32 

(3) 7 

(4) 1889 

(3) 2 (2) 1 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(B) 

(4) 16 

(4) 100 

(4) 25 

19 

(4) 33 

(4) 8 

(4) -1 
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97. If x =7-443, then what is the value of /x + 

(1) 1 

(1) 15 
98. The scalar product of 5i + j - 3k and 3i - 4j +7k is : 

(2) -15 

(1) 2.3 m 

(2) 2 (3) 3 

(1) 5/91 

(2) 4.6 m 

(3) 4/105 

1 

(3) 10 

99. The angle of elevation of a ladder leaning against a wall is 60° and the foot of the 

ladder is 4.6 m away from the wall. The length of ladder is : 

(3) 7.8 m 

(4) 4 

100. An urn contains 6 red, 4 blue, 2 green and 3 yellow marbles. If two marbles are 

(4) -10 

PlCked up at random, what is the probability that either both are green or both are 

yellow ? 

(2) 1/3 

(4) 9.2 m 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(B) 
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1. On reaching the railway station, you find that the train you wanted to catch is just to 

start and there is hardly any time for purchasing the ticket. The best thing for you is 

to: 

(1) rush to the train rather than miss it and inform the T.T.I. at the next stoppage 

about your inability to purchase the ticket. 

(2) rush to the train and perform your journey quietly. 

(3) first purchase the ticket and then catch the train if it is there. 

(4) miss the train rather than take the risk of boarding the moving train . . 

1 

2. Assertion : The problem solving ability, mental performance and memory of the 

employees of company C are deteriorating. · 

RI. Due to tight schedule at company C, the emp_loyees of the company are skipping 

their breakfast regularly. 

RII. The job is physical in nature, but not mental. 

(1) Only RI and not RII is the reason for the assertion. 

(2) Only RII and not RI is the reason for the assertion: 

(3) Either RI or RII, but not both, is the reason for the assertion·. 

(4) Neither RI nor RII i~ the reason for the assertion. 

3. Assertion : During polling season, new roads are constructed, there is twenty-four 

hours of power supply, good supply of water, and many other facilities 

are provided to the people. 

RI. Political leaders want to be in the good books of the people. 

RII. Polling season that is the right time to convert black money to white money in the 

name of party funds for the industries. 

(1) Only RI and not RII is the reason for the assertiqn. 

(2) Only RII and not RI is the reas<;m for the assertion. 

(3) Either RI or RII, but not both, is the reason for the assertion. 

(4) Neither RI nor RII is the reason for the assertion. 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(C) P. T. 0. 
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1 h es are Carrots. All bedsheets ate 4. St,itenrents: All Carrots are birds. Some te ep on 
telephone. 

Conclusion : 

I. All bedsheet are birds 

IT. Some bedsheet are birds 

III. Some birds are telephone 

IV. All telephone are birds 

(1) Only I follows 

(3) Only I and ill follows 

(2) Only Il follows 

(4) Only III follows 

di nds No diamond is stone. 5. Statements : Some pearls are gems. All gems are amo · 
Some stones are corals. 

Conclusions : 

I. Some stones are pearls. 

II. Some corals being diamond is possibility. 

ill. No stone is pearl. 

(1) Only concl~ion I is true 

(2) Both conclusion I and ID are true 

(3) Either conclusion I or II is true 

(4) None of the above 

6. Nitin ranks 18th in a class of 49 students. What is rank from the last ? 

(1) 31 (2) 18 (3) 32 (4) 19 

7. How many'such digits are there in the number 7346285 which are as far away from r 
the beginning of the number, as they will be when arranged in ascending order 
within the number ? 

(1) None (2) One (3) Two (4) Three 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(C) 
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,8. If the day before yesterday was Saturday, what day will fall on the day after 

tomorrow? 

(1) Friday 

(3) Wednesday 

(2) Thursday 

(4) Tuesday 

9. If the digits in the number 25673948 are arranged in ascending order from left to 

right, what will be the sum of the digits which are fourth from the right and third 

from the left in the new arrangement ? . · 

{l) 10 (2) 9 (3) 8 (4) 6 

10. There are 6 persons A, B, C, D, E and F who have different rank in class test exam. 

Person A got last rank in class. E was not first in class test rank. B got more marks 

than C, but he did not get second ran.I< in class. E got more marks than only A. F was 

situated between D and Bin class test ranking, and B score less than D. The second 

highest person got 92 marks. 

D got which of the following possible marks ? 

(1) 89 . (2) 92 (3) 93 (4) 88 

11. Answer the ques~ons on the basis of the information given below : 

Seven varsity basketball players A, B, C, D, E, F and G are to be honoured at a 

special luncheon. 'rhe players will be seated on the dais in a row. A and G have to 

leave the luncheon early and so must be seated at the extreme right. B will receive the 

most valuable player's trophy and so .much be in the centre to facilitate presentation. 

C and Dare bitter rivals and therefore, must be seated as far apart as possible. 
' " ' 

Which of the following pairs cannot be seated together ? · 
. . 

(1) Band D 

(3) DandG 

(2) C and F 

(4) E and A 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(C) P. T. 0 
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12. Read the text and the statements carefully, and answer the questions. 

Four people of different nationalities live on the same side of a street in four houses 

each of different colors. Each person has a different favorite drink. The following 

additional information is also known: 

A. The Englishman lives in the red house. 

B. The Italian drink tea. 

C. The Norwegian lives in the first house on the left. 

D. In the second house from the right they drink milk. 

E. The Norwegian lives adjacent to the blue house. 

F. The Spaniard driMs fruit juice. 

G. Tea is drunk in the blue house. 

H. The white house is to the right of the r.ed house. 

The Norwegian drinks: 

(1) Milk (2) Cocoa (3) Tea (4) Fruit Juice 

13. Answer the questions on the basis of the information given below: 

A, B, C, D, E and F are a gro_up of friends. There are two house wives, one professor, 

one engineer, one accountant and one lawyer in the group. There are only two 

married couples in the group. The lawyer is married to D, who is a housewife. 

No women in the group are either an engineer or an accountant. C, the accountant, is 

married to F, who is a professor. A is matried to housewife.Eis not a housewife. 

How many members of group are males ? 

(1) 1 

(2) 3 

(3) 4 

(4) Cannot be determined 

PG-EB-June, 2023/(Computer Science Group)(SET-X)/(C) 
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14. The first and the last parts of the sentence are numbered 1 &. 6. The rest of the 
sentence, is split into four p_arts and named P, Q, R and S. These four parts are not 

given in their proper order. 
Read the sentence and find out which of the four combinations is correct? 
1. It was obvious 

I 

P. made by him 
Q. submitted at the meeting 
R. from the comments 
S. on the draft proposals 
6. that he was not satisfhed with them. 
(1} QRSP (2) SQRP 
(3) RPSQ (4) PSRQ 

. 
15. In an examination the average marks of Rohit are 63. If he got 20 more marks in 

Science and 28 more marks in Mathematics, then his average would have been 69. 
Find ~e total number of subjects he studied : 

(1) 7 (2) 8 (3) 10 (4) 12 

16. Study the following pie-chart carefully to answer these questions : 

Total Expenditure : Rs. 60 Lacs 

il jiI 
.. :, : ::::t1~.S,:24"· . . · :, · .· ·:::·, ••:'::.,::'·:.·• :-':.':-:.:·: .','., : : ' 

· .. ·: ·;.~i· .. . . -~ ... · : ' ,:; 
•::_'-.. ~ 

··-....... .. -... .. .. ... ... ,..,. .. , .. , 

Expenditure of funds by University for various purpose 

What is the difference between the expenditure made by university for Publication of 
Journals and Psychology Laboratory ? 

(1) Rs! 4 la~ (2) Rs. 3 lacs (3) Rs. 4.2 lacs (4) Rs. 3.8 lacs 

Group)(SET-X)/(C) P. T. 0. 
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17. Study the following table and answer the questions: 

Classification of 100 students based on the marks obtained by them in Physics a
nd 

Chemistry in an Examination : 

Subjects Marks out of 50 
. . 

40and 30 and 20and 10 and above O and above 

above above above 

Physics 9 32 80 92 100 

Chemistry 4 21 66 81 100 

Average (Aggregate) 7 27. 73 87 100 

C 

-

What is the . difference between · the number of students passed ~ith 30 as cut-off 

~ks in Chemistry and those passed with 30 as cut-off marks in aggregate? 

(1) 3 (3) 5 (4) 6 

18. Answer the questions based on the following information: 

A, B, C_ and D are to be. seated in a row. But C and D cannot be together. Also B 

cannot be at the third place. If A a~d B are together, then which of the· following must 

be necessarily true ? 

(1) C is not at the first place 

(2) A is at the third place 

(3) D is at the first place 

(4) C is at the first place 
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19. Answer the questions on the basis of the following information : 

Four families decided to attend the marriage ceremony of one of their c 11 f ·1 h kd o eagues. ~e ami Y as no 1 . s, while the others have at least one kid each. Each family with 
kids has at least one kid attending the marriage. 

Given b~low some information about the families, and who r~ached when to attend the marriage : 

7 

The family with 2 kids came just before the family with no kids. 

Sh~ti wh? ~oes not have any kids reached · just before Sridevi's family. 
Sunil and his wife reached last with their only kid. 
Anil is not the husband of Joya. 
Anil and Raj are fathers. 

Sridevi's and Anita's daughters go to the same ,school. 

Joya came before Shanti and met Anita when she reached the venue. 
Raman stays the farthest from the venue. 

Raj said his son could not come because of his exams. 
Name the correct pair of husband and wife: 
(1) Raj and Shanti 

(2) Sunil and Sridevi 

(3) Anil and Sridevi 

( 4) Raj and Anita 

20. Answer the questions ori the basis-of_ the informati~m given below: 

The seven basic symbols in a certain numeral system and their respective values are 
as follows : · ~ 

I = 1, V = 5, X = 10, L = 50, C = 100, D = 500 and M = 1000 

In general, the symbols in the numeral system are read from left to right, starting with 
the symbol representing the largest · value; the same symbol cannot occur 
continuously more than three times; the value of the numeral is the sum of the values 
of the symbols. For example, XXVII = 10 + ~0 + 5 + 1 +. 1 = 27_. An exception to the 
left to right reading occurs when a symbol is followed unmed1ately by a symbol of 
greater value; then, the smaller value is subb'.acted from the larger. 

For example, XL VI = (50 - 10) + 5 + 1 = 46 . . 

The value of the numeral MCMXCIX is : 

(1) 1999 · (2) 1899 (3) 1989 (4) 1889 

ieup)(S~T-X)/(C) P. T. 0. 
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21. · If p x q = p + q + p, what is the value of 8 x 2 ? 
q 

(1) 6 (2) 10 (3) 14 

22. If 0.13 x p 2 = 13, then pis equal to : 

(1) 10 (2) 0.01 (3) 0.001 

(4) 16 

(4) 100 

23. If A= IS, 6} and B = (7, 8), then what is the number of relations from A to B? 

(1) 2
2 

(2) 23 (3) 2~ (4) 2
5 

C 

24. If A= (1, 2, 3, 4, 5,,7, 8, 9} and B = (2, 4, 6, 7, 9), then find number of proper subsets of 
AnB? 

(1) 14 (2) 15 (3) 32 (4) 33 

25. The magnitude of the vector 6i + 2j + 3k: 

(1) 5 (2) 6 (3) 7 (4) 8 

26. (sin30° + cos30°) - (sin 60° + cos 60°): 

(1) 0 (2) 1 (3) 2 (4) -1 
-. ' ' 1 

27. If x = 7 - 4/3, then what is the value of Jx + ✓x ? 

(1) 1 (2) 2 (3) 3 · (4) 4 

28. The scalar product of Si+ j- 3k and 3i - 4j + 7k is·: 

(1) 15 (2) -15 (3) 10 (4) . ~10 

29. The angle of elevation of a ladder leaning against a wall .is· 60° and the foot of the 
ladder is 4.6 m away from the wall. The length of ladder is: 

(1) 2.3 m (2) 4.6 m (3) 7.8 m (4) 9.2 m 

I 

30. An urn contains 6 red, 4 blue, 2 green and 3 yellow marbles. If two marbles are 
picked up a_t random, what is the probability that either both are green or both are 
yellow? 

(1) 5/91 

(3) 4/105 

(2) 1/3 

(4) None of the above 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(C) 
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31. Fill in the blank : 

The river Thames flows ....... ....... London. 

(1) through (2) on (3) over (4) in 

32. In the following choose the one which best express the meaning of the idiom/phrase: 

Talk through one's hat 

(1) To talk secretly (2) Talk positively 

(3) Talk good points (4) Talk nonsense 

33. Choose the word which best expresses the meaning of the given word: 
VENT 

(1) End (2) Storage 
(3) Opening (4) Pa~t tense of Go 

34. My fatµer's dealings are open and above board. 

(1) Mandatory 

(3) Very clear 

(2) Without any secret 

(4) To everyone's liking 

. 35. Choose the word which best expresses the meaning of the given word : 

· COMBAT 

(1) Conflict (2) Quarrel (3) Feud (4) Fight 

36. Read the passage and choose most relevant answer : 

Erosion of America's farmland by wind and water has been a problem since settlers 
first put the prairies and grasslands under the plow in the nineteenth century. By the 
1930s, more than 282 million acres of farmland were damaged by erosion. After 40 
years of conservation efforts, soil erosion has accelerated due to new demands placed 
on the land by heavy crop production. In the years ahead, soil erosion and the 
pollution problems it causes are likely to replace petroleum scarcity as the nation's 
most critical natural resource problem. 

As we understand from.the reading, today, soil erosion in America ................ . 

(1) is worse than it was in the nineteenth century 

(2) is the most critical problem that the nation faces 

(3) causes humans to place new demands on the land 

(4) is worse~ areas which have a lot of petroleum production 

0

Jlll4I, 2023/(Computer Science Group)(SET-X)/(C) P. T. 0. 
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. t arts and the parts have 
37. In the following question, a sentence has been broken m 

O ~ ts from the given 
been scrambled and numbered. Choose the correct order oft ese par 

alternatives. 

I. In a masterly way 

II. Munshi Premchands works, especially fiction 

III. Have been analysed and critiqued 

IV. In the next chapter 

(1) II III I IV (2) III II I IV (3) IV II III I (4) I II III IV 

38. Fill in the blank with the most appropriate word from the options given below: 

A good driver will be very car_eful before carrying out a complex ··· ·.·· ··· ··· · · 

(1) Movement (2) Manoeuvre (3) Motion (4) Movement 

39. S1 : A noise started above their heads. 

P : But people did not take it seriously. 

Q : It was to show everyone that there was something wrong. 

R : It was a dangerous thing to do. 

S : For, within minutes the ship began to sink. 

S6 : Nearly 200 lives were lost on the fateful day. 

The proper sequence should be : 

(1) PQSR (2) PRQS (3) QPRS (4) QPSR 

40. Sl: She said on the phone that she would report for duty next day. 

P : We waited for few days then we decided to go to her place. 

Q : But she did not. 

R: We found it locked. 

S: Even after that we waited for her quite a few days. 

S6 : Eventually we reported to the Police. 

The proper sequence should be : 

(1) PRSQ (2) QPSR (3) QPRS 

June, 2023/(Computer Stjence G·roup)(SET-X}/(C) 
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41. What is the full form of WORM? 

{1) Write Once, Read More 

(2) Write Over, Read Mode 

(3) Write Once, Read Many 

(4) Write Out, lu!ad Many 

11 · 

42. What of the foll owing is octal representation (in 4 digits) of decimal number (896) ? 
(1) 3567 (2) 1600 (3) 1701 (4) 1654 

43. MSD refers to ? 

(1) Many Significant Digit 

(2) Most Significant Decimal 

(3) Multiple Significant Digit 

(4) Most Significant Digit 

44. 2's comple~ent of -14 ? 

(1) 11110001 . (2) 10010010 (3) 11100001 

45. Which of the following is invalid hexadecimal ? , 

(1) 0A23 (2) AB14 (3) XA23 

46. Which of the following is/ alse ? 

(4) 01010110 

(4) 1234 

(1) 2's complement of a 2's complement of a number I the number itself. 

(2) Excess-3 code for 369 is 011110011100 

(3) 1-bit gray code has two code words 0 and 1 

(4) In 7-bit hamming code of BCD, the parity bits are placed at 1, 2 and 4 
locations. 

• PG-II-June, 2023/(Computer Science Group)(SET-X)/(0 P. T. 0. 
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47. What is bootstrapping called ? 

(1) Hot Boot (2) Cold Boot 

(3) Cold hot strap (4) Hot bootstrap 

48. Which of the following is system software ? 

(1) Operating System (2) Utilities 

(3) Compiler (4) All of the above 

d d · · ts surface ? 

49. Which of the following payment card has a microchip embed e m 1 

(1) Debit Card 

(3) Metro Card 

(2) Credit Card 

( 4) Charge Card 

50. Which of the following is a coriclition that causes deadlock? 

(1) Circular Wait 

(3) Hold and Wait 

(2) Mutual Exclusion 

(4) All of the above 

C 

51. Aman is 16th from the left end in a row of boys and Vivek is 18th from the right end. 

Gagan is 11~ from Aman towards the right and 3rd from Vivek towards the right 

end. How many boys are there in tl;le row ? 

(1) 40 (2) 48 "(3) 42 (4) 41 

52. How many 7's are there in the following series which are not immediately followed 

by 3 but immediately preceded by 8 ? 

898762263269732872778737794 

(l) · 10 . (2) 3 (3) 2 (4) 0 

53. Manisha ranked_ sixteenth from · the top and twenty-ninth from the bottom among 

those who passed an examination. Six boys did not participate in the competition and 

_five failed ~ it. How many boys were there in the class ? 

(1) 40 (2) 48 (3) 55 (4) 58 
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54. In a list, the rnnk of Mnhesh was 16 from the top and whereas from bottom, the rank 
is 29. The list was about the passed-out sludcnls. Six students were failed due to non 
participation and 5 were foiled. r ind lhe total number of students present in the class. 

(1) 55 (2) 54 (3) 53 (4) 52 

55. If x means +, - means x, + means+ and+ means - , then (3 - 15 + 19) x 8 + 6 = ? . 

(1) 2 (2) - 1 (3) 4 (4) 8 

56. A sum of Rs.1 890 has to be used to give 9 prizes to the customers of a super market 
for their overall academic purchases. If each prize is Rs. 30 less than its preceding 
price, what is the least value of the price? 

(1) 80 (2) 85 (3) 90 (4) 95 

57. If" A" denotes "subtracted from", "B" denotes "added to", "C" denotes "divided by", 
"D" denotes "multiplied by", then which of the following statement is correct? 

(1) 13C13A13B13D13 = 157 

(2) 18C16D49A27B9 = 200 

(3) 3A12B16D17Cl = 163 

( 4) SC7 A9D8B2 = 294 

58. Statement: Should children be legally made responsible to take care of their parents 
during their old age? 

Arguments: 

I. Yes. Such matter can only be solved by legal means. 

II. Yes. Only this will bring some relief to poor parents. 

(1) Only Argument I is strong 

(2) Only Argument II is strong 

(3) Either I or II is strong 

(4) Neither I nor II is strong 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(C) P. T. 0. 
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· · b b nned 1 59. Statement: Should fashionable dresses e a . 

Arguments: 
. . m tion of cloth increases. I. Yes. Fashions keep changmg and hence consu P . f hi 

· ssion and there ore s/her II. No. Fashionable clothes are a person's self-expre 
fundamental right. 

(1) Only Argument I is strong 

(2) Only Argument II is strong 

(3) . Either I or II is strong 

(4) Neither I nor II is strong 

-

1 ry subj' ect for all the 60. Statement·: Should 'computer knowledge' be made a compu so 
_ students at secondary school lever? 

Arguments: 

I. No, our need is 'bread' for every~ne, we cannot follow western models. 
II. Yes. We cannot compete in the international market without equipping our 

children with computers. 

(1) Only Argument I is strong 

(2) Only Argument II is strong 

(3) Either I or II is strong 

(4) Neither I nor II is strong 

61. A user can get files frqm another computer on the Internet by using : · 

(1) TELNET (2) ·HTIP (3) FTP (4) UTP 

62. Transport layer is at which level in tCP / IP model ? 

(1) 1 (2) 2 (3) 3 (4) 4 

83. ~ch tag is used for displaying large font size ? 

(1) <BIG></BIG> 

(3) <SIZE></SIZE> 

(2) ~LARGE></LARGE> 

(4) <FONT></FONT> 

fG.11.June, 2023/(Computer Science Group)(SET-X)/(C) 
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64, Which among the following language is better for structured coding? 

(1) BASIC (2) PASCAL (3) PORTAN (4) PL/1 

65. What type of scheduling is round-robin scheduling? 

(1) Linear Data Scheduling 

(2) Preemptive Scheduling 

(3) Non-linear data scheduling 

(4) Non~Preemptive Scheduling 

15 

66. .. .... .. .... allows more than one program to be ready for execution and provides the 

ability to switch from one task to another. 

(1) Multiprogramming 

(3) Multitasking 

(2) Multithreading 

(4) None of the above 

67. Which html tag is used to scroll text in a Web Page? 

(1) <scroll></ scroll> 

(2) <round></round> 

(3) <marquee>< I marquee> 

(4) <go></go> 

· 68. . ...... ..... is single sequential flow of control in a program. 

(1) Process (2) Task (3) Thread (4) Structure 

69. Which among the following is the property of Unix OS ? 

(1) Multi-user (2) Time Sharing 
I 

·(3) Multi-tasking (4) All of the above 

70. Which of the following is not a paired tag ? 

(1) <img> (2) <u> (3) <b> (4) <p> 

3023/(Computer Science Group)(SET-X)/(C) P. T. 0, 
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71. Which among the following OS does not implement mu titas mg · 

(1) Windows NT (2) Windows 98 

·(3) Windows XP (4) MS DOS 

72. In computers, subtraction is carried out by : 

(1) 1 's complement (2) 9's complement 

(3) 2's complement (4) l0's complement 

73. Which of the following is not the weighted code ? 

(1) Decimal number system (2) Excess-3 code 

(3) Binary number system (4) None of the above 

, 

7 4. Cache me,mory acts between : 

(1) RAM and ROM (2) CPU and RAM 
., 

(3) CPU and Hard Disk (4) None 

7'.5. -101111- 010101 =? 

(1) 100100 (2) 011010 (3) 011001 

76. Keyboard shortcut for redo : 

(1) Ctrl +Z (2) Ctrl+ Y · (3) Ctrl + X 

n. 1101 + 1100 in binary arithmetic ? 

(1) 11001 . (2) 1100 (3) 1001 

-78. The address technique employed by a CPU is : 

(1) Direct (2) Indirect 

(4) 110011 

(4) Shift+ Y 

(4) 0011 

(3) Immediate • (4) All of the above 

79. Keys to switch between applications running in Windows OS : 

(1) Ctrl + Tab (2) Alt + Tab 

(3) Shift+ Tab (4) Fn + Tab 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(C) 
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80. (lQ,lQ) X (01.01) 

(1) 011.0010 

(3) 001.1101 

81. Choose missing pattern : 

QPO, NML, KJI, -, EDC 

(1) HGF (2) CAB 

(2) 110.0011 

(4) None of the above 

(3) JKM (4) GHD 

82. Choose the correct relation similar to following : 

FISH : SCHOOL 

(1) Herd: Peacock 

(3) Cow : Farm 

(2) Wolf: Pack 

(4) Elephant: Jungle 

83. Find the minimum number of straight lines required to make the given figure: 

(1) ,15 (2) 21 (3) 18 (4) 20 

84. Find the minimum number of straight lines in the below figure : 

(1) 20 (2) 19 · (3) 17 (4) 15 

17 

85. Vineet is taller than Raman but shorter than Jyoti. Sumit is the shortest. Deepak is 
taller than Sumit but shorter than Raman. Who is the tallest ? 

(1) Jyoti 

(3) Vineet 

(2) Raman 

(4) Deepak 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(C) P. T. 0. 
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. • th gt'ven options : 

Select the missing letter from e 86. 

B J I 

E K B 

G u ? 

(1) O (2) M (3) K . 
(4) p 

. . . the given Problem figure : 
87. Select the Answer figure that fits in the blank space m 

Problem Figure 

· ~ A 
: 

,-(>-. 
.. . 

.:v 9·· -<?-: 
fJ -<?- ? 

Answer Figures : 

A B C D 

· (1) D (2) C (3) B (4) .A 

88. Select the option that depicts the correct mirror image of the given word · when the 

mirror is placed horizontally below the word : 

HEALTHY 

1. HEVrlHA 
2. Y HT LA 3 H 
3. Y HT J A 3 H 
4. Y HT LA EH 

{l} 1 (2) 2 (3) 3 (4) 4 
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9 Which of the following part . 
8 . is a part of both circle and triangle ? 

(1) e 
(2) V 

(3) o (4) C 

90. The P:0 portion of male students and the proportion of vegetarian students in a school are given below• The school has a total of 800 students, 80% of whom are in the secondary section and rest equally divided betweendass 11 and 12: 
What is the percentage of vegetarian student in class 11? 

Male (M) Vegetarian (V) 
Class 12 0.60 · 0.54 
Class 11 0.55 0.50 

Secondary Section 0.275 (288) 0.55(352) 
Total 0.475 0.53 

(1) 40 (2) 45 (3) 60 . (4) 65 

91. Which of the following is the computer system's hardware component ? 
(1) RAM 

(3) Adobe Reader 

92_ How many bits are there in 1 nibble ? 

(1) 4 (2) 8 

93. What is the full form of USB? 

(1) Universal Sequential Bus 

(3) Universal Seri~l Bus 

' . 
(2) Keyboard 

(4) ROM 

(3) 16 (4) 24 

(2) Unique Serial Bus 

(4) Unique Sequential Bus 

. Group)(SET-X)/(C) PG-EE-June, 2023/(Computer Soence P.T.O. 
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94. What one of the following is volatile memory? 
(1) RAM (2) ROM (3) EPROM 

(4) PROM 

95. What is the length of character in ASCII codes? 

(1) 4 (2) 8 (3) 7 
(4) 6 

98. What is the value of binary number 011 ? 
(4) 7 (1) 2 (2) 4 (3) 3 

97. Which of the following is tme ? 

(1) 1 gigabyte is equal to 1024 kilobyte 

(2) Decimal number system cannot contain binary digits 

(3) Hexadecimal system have 16 bits 

(4) None 

98. What is the octal representation of (011101)? 

(1) 35 (2) 45 (3) 34 (4) 54 

99. Which is the largest unit of storage ? 

(1) Kb (2) Mb (3) Zb (4) Yb 

100. How many values can be represented by one byte ? 

{l) 512 {2) 64 (3) 256 (4) 8 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(C) 



Total No. of Printed Pages : 21 

(DO NOT OPEN TH.IS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU 

ml ARE ASKED TO DO SO) I SET-X I 
~ PG-EE-June, 2023 - . 

SUBJECT: Computer Science. Group 10552 

Sr. No . .............. .... ............. . · 

Time : 1 ¼ Hours Max. Marks : 100 Total Questions : 100 

Roll No. (in figures) _______ (in words) _______________ _ 

Name Date of Birth _____________ _ 

Father's Name __________ Mother's Name ____________ _ 

Date of Examination __________ _ 

(Signature of the Candidate) (Signature of the Invigilator) 

CANDIDATES MUST READ THE FOLLOWING INFORMATION/INSTRUCTIONS BEFORE:;:·;.,;; 
STARTING THE QUESTION PAPER. . . ~~~~ 

1. All questions are compulsory. i:ti ~ 
2. The candidates must return the question booklet as well as OMR Answer-Sheet to the Invigilate:=.:.:::·:: 

concerned before leaving the Examination Hall, failing which a case of use of unfair-
. means/ mis-behaviour will be registered against him/ her, in addition to lodging of an Fl R with the 

police. Further the answer-sheet of such a candidate will not be evaluated. 

3. Keeping in view the transparency of the examination system, carbonless OMR Sheet is provided to 
the candidate so that a copy of OMA Sheet may be kept by the candidate. 

4. Question Booklet along with answer key of all the A, B, C & D code shall be got uploaded on the 

University Website immediately after the conduct of Entrance Examination: Candidates may raise 
valid objection/complaint if any, with regard to discrepancy in the question booklet/answer key within 
24 hours of uploading the same on the University Website. The complaint be sent by the students to 

the Controller of Examinations by hand or through email. Thereafter, no comp!aint in any case, wi ll be 
considered. · 

5. The candidate must not do any rough work or writing in the OMA Answer-Sheet. Rough work, if any, 

may be done in the question booklet itself. Answers must not be ticked in the question booklet. 

6. There will be no negative marking. Each correct answer will be awarded one full mark. 
Cutting, erasing, overwriting and more than one answer in OMR Answer-Sheet will be treated 
asincorrectanswe~ · 

7. Use only Black or Blue Ball Point Pen of good quality in the OMR Answer-Sheet. 

8. Before answering the questions, the candidates should ensure that they have been supplied correct 

and complete booklet. Complaints, if any, regarding misprinting etc. will not be entertained 30 
minutes after starting of the examination. ·. 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) 

• ' 



D 

1. Choose missing pattern: 

QPO, NML, KJI, -, EDC 

(1) HGF (2) CAB (3) JKM (4) GHD 

2. Choose the correct relation similar to following : 

FISH : SCHOOL 

(1) Herd: Peacock 

(3) Cow : Farm 

(2) Wolf : Pack 

(4) Elephant: Jungle 

3. Find the minimum number of straight lines required to make the given figure : 

(1) 15 (2) 21 (3) 18 (4) 20 

4. Find the minimum _number of straight lines in the below figure : 

(1) · 20 (2) 19 (3) 17 (4) 15 

1 

5. Vineet is taller than Raman but shorter ~han Jyoti. Sumit is the shortest. Deepak is 
taller than Sumit but shorter than Raman. Who is the tallest? 

(1) Jyoti (2) Raman (3) Vineet (4) Deepak 

6. Select the missing letter from the given options: 

B J I 

E K B 

G u ? 

(1) 0 (2) M (3) K (4) p 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) P. T. O. 
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7. Select the Answer figure that fits in the blank space in the given Problem figure : 

Problem Figure 

~ A -0-. 

-v ¢ -t 
p -t ? 

Answer Figures : 

A B C D 

(1) D (2) C (3) B (4) A 

8. Select the option that depicts the correct mirror image_ of the given word when the 

mirror is placed horizontally below the wo;d: 

HEALTHY 

1. HE"lr !HA 
2. V HT LA 3 H 
3. Y H T.J A 3 H 
4. Y HT LA EH 

(1) 1 (2) 2 (3) 3 (4) 4 

9. Which of the following part is a part of both circle and triangle ? 

(1) e . (2) V (3) 0 (4) C 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(O) 
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10. The proportion of male students and the proportion of vegetarian students in a school 
are given below. The school has a total of 800 students, 80% of whom are in the 
secondary section and rest equally divided between class 11 and 12 : 
What is the percentage of vegetarian student in class 11? 

Male (M) Vegetarian (V) 
Class 12 0.60 0.54 
Class 11 0.55 0.50 

Secondary Section 0.275 (288) 0.55(352) 
Total 0.475 0.53 

(1) 40 '(2) 45 (3) 60 (4) 65 

11. Fill in the blank : 

The river Thames flows .............. London. 

(1) through (2) on (3) over · (4) in 

12. In the follow.ing choose the one which best express the meaning of the idiom/phrase : 

Talk through one's hat 

(1) To talk secretly 

(3) Talk good points 

(2) Talk positively 

(4) Talk nonsense 

13. Choose the word which best expresses the meaning of the given word: 

VENT 

(1) End (2) Storage 

(3) Opening (~) Past'tense of Go 

14. My father's dealings are open and above board. 

(1) Mandatory (2) Without any secret 

(3) Very clear (4) To everyone's liking 

15. Choose the word which best expresses the meaning of the given word: 

COMBAT 

(1) Conflict (2) Quarrel (3) Feud (4) Fight 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) P.T.O. 
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16. Read the passage and choose most relevant answer: 

Erosion of America's farmland by wind and water has been a problem since settlers 

first put the prairies and grasslands under the plow in the nineteenth century- By the 

1930s, more than 282 million acres of farmland were damaged by erosion. After -lO 

years of conservation efforts, soil erosion has accelerated due to new deman<ls placed 

on the land by heavy crop production. Jn the years ahead, soil erosion and the 

poUution problems it causes are likely to replace petroleum scarcity as the nation's 

most critical natural resource problem. 

As we understand from the reading, today, soil erosion in America • · · · · · · · · · · ··· · 

(1) is worse than it was in the nineteenth century 

(2) is the most critical problem that the nation faces 

(3) causes humans to place new demands on the land 

(4) is worse in areas which have a lot of petroleum production 

17. In the following question, a sentence has been broken into parts and the parts ha,·e 

been scrambled and numbered. Otoose the correct order of these parts from the giYen 

alternatives. 

I. In a masterly way 

II. Munshi Premchands works, especially fiction 

ID. Have been analysed and critiqued 

N. In the next chapter 

(1) II ID IN 

(3) NII ID I 

(2) ill II I IV 

(4) I II ill IV 

18. Fill in the blank with the most appropriate word from the options gi,·en below : 
-

A good driver will be very careful before carrying out a complex .. .. ... . .. . .. . 

(1} Movement 

(3) Motion 

(2) Manoeuvre 

(4} Movement 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) 
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19. S1 : A noise started above their heads. 

P: But people did not take it seriously. 

Q : It was to show everyone that there was something wrong. 

R : It was a dangerous thing to do. 

S : For, within minutes the ship began to sink. 

S6: Nearly 200 lives were lost on the fateful day. 

The proper sequence should be : 

(1) PQSR (2) PRQS (3) QPRS (4) QPSR 

20. S1: She said on the phone that she would report ·for duty next day. 

P: We waited for few days then we decided to go to her place. 

Q: But she did not. 

R: We found it locked. 

S: Even after that we waited for her quite a few d_ays. 

S6: Eventually we reported to the Police. 

The proper sequence should be : 

(1) PRSQ . (2) QPSR (3) QPRS (4) SQPR 

21. A user can get files from another computer on the Internet by using : 

(1) TELNET (2) HTTP (3) FTP 

22. Transport layer is at which level in TCP/ IP model? 

(1) 1 (2) 2 (3) 3 

23. Which tag is used for d_isplaying large font size? 

(1) <BIG></BIG> 

(2) <LARGE></LARGE> 

(3) <SIZE></SIZE> 

(4) <FONT></FONT> ~ 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) 
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24. Which among the following language is better for structured coding ? 

(1) BASIC (2) PASCAL (3) FORTAN 

25. What type of scheduling is round-robin scheduling? 

(1) Linear Data Scheduling 

(2) Preemptive Scheduling 

(3) Non-linear data scheduling 

(4) Non-Preemptive Scheduling 

(4) PL/1 

D 

26. . ... : ....... allows more than one program to be ready for execution and provides the_ 

ability to switch from one task to another. 

(1) Multiprogramming 

(3) Multitasking 

(2) Multithreading 

(4) None of the above 

27. Which html tag is used to scroll text in a Web Page? 

(1) <scroll></ scroll> 

(2) <round></round> 

(3) <marquee></marquee> 

(4) <go></go> 

28. . ........... is single sequential flow of control in a program. 

(1) Process (2) Task (3) Thread 

· 29. Which among the following is the property of Unix OS ? 

(1) Multi-user (2) Time Sharing 

(3) Multi-tasking (4) All of the above 

30. Which of the following is not a paired tag ? 

(1) <img> (2) <U> (3) <b> 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) 
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31. Which of the following is the computer system's haraware component? 

(1) RAM (2) Keyboard 

(3) Adobe Reader ( 4) ROM 

32. How many bits are there in 1 nibble? 

(1) 4 (2) 8 (3) 16 (4) 24 

33. What is the full form of USB? 

(1) Universal Sequential Bus 

(3) Universal Serial Bus 

(2) Unique Serial Bus 

(4) Unique Sequential Bus 

34. What one of the following is volatile memory? 

(1) RAM (2) ROM (3) EPROM (4) PROM 

35. What is the length of character in ASCII codes? 

(1) 4 (2) 8 (3) 7 (4) 6 

36. What is the value of binary number 011 ? 

(1) 2 (2) 4 (3) 3 (4) 7 

37. Which of the following is true ? 

(1) 1 gigabyte is equal to 1024 kilobyte 

(2) Decimal number system cannot contain binary digits 

(3) Hexadecimal system have 16 bits 

(4) None 

38. What is the octal representation of (011101)-? · 

(1) 35 (2) 45 (3) 34 (4) 54 

39• Which is the largest unit of storage? 

(1) Kb (2) Mb (3) Zb (4) Yb 

40. How many values can be represe_nted by one byte? 

(1) 512 (2) 64 (3) 256 (4) 8 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) 
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. f d ·v· k · 18th from the right end. 41. Aman is 16th from the left end ma row o boys an 1ve is 
Gagan Is 11th from Aman towards the right and 3rd from Vivek towaT<ls the right 
end. How many boys are there in the row ? 

(]) 40 (2) 48 (3) 42 (4) 41 

42. How many 7's are there in the following series which are not immediately followed 
by 3 but immediately preceded by 8? 

898762263269732872778737794 

(1) 10 (2) 3 (3) 2 (4) 0 

43. Manisha ranked sixteenth from the top and twenty-ninth from the bottom among 
those who passed an examination. Six boys did not participate in the competition and 
five failed in it. How many boys were there in the class? 

(1) 40 (2) 48 (3) 55 (4) 58 

44. In a list, the rank of Mahesh was 16 from the top and whereas from bottom, the rank 
is 29. The list was about the passed-out students. Six students were failed due to non 
participation and 5 were failed. Find the total number of students present in the class. 

(1) 55 (2) 54 q) 53 (4) 52 

45. If x means+, - means x, +means+ and+ means - , then (3-15 + 19) x 8 + 6 =? 

(1) 2 (2) -1 (3) 4 (4) 8 

46. A sum of Rs.l 890 has to be used to give 9 prizes to the customers of a super market 
for their overall academic purchases. If each prize is Rs. 30 less than its preceding 
price, what is the least value of the price? 

(1) 80 (2) 85 (3) 90 (4) 95 
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47. If'A" denotes "subtracted from", "B" denotes "added to", "C" denotes "-divided by", 

"D" denotes "multiplied by", then which of the following statement is correct? 

(1) 13C13Al3B13D13 = 157 

(2) 18C16D49A27B9 = 200 

(3) 3A12B16D17Cl = 163 

(4) SC7 A9D8B2 = 294 

48. Statement: Should children be legally made responsible to take care of their parents 

during their old age? 

Arguments: 

I. Yes. Such matter can only be solved by legal means. 

II. Yes. Only this will bring some relief to poor parents. 

(1) Only Argument I is strong 

(2) Only Argument II is strong 

(3) Either I or II is strong · 

(4) Neither I nor II is strong 

49. Statement : Should fashionable dresses be banned ? 

Arguments: . 

r. Yes. Fashions keep changing and hence consumption of cloth increases. 

No. Fashionable clothes are a person's self-expression and therefore his / her II. 

fundamental right. 

(1) Only Argument I is strong 

(2) Only Argument II is strong 

(3) Either I or II is strong 

(4) Neither I nor II is strong 

PG-EE-June, 2023/(Comput~r Science Group)(SET-X)/(D) 
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50. Statement: Should 'computer knowledge' be made a compulsory subject for all the 
students at secondary school level ? 

Arguments: 

I. No, our need is 'bread' for everyone, we cannot follow western models. 

II. Yes. We cannot c~mpete in the international market without equipping our 
children with computers. 

(1) Only Argument I is strong 

(2) Only Argument IT is strong 
(3) Eith~r I or II is strong 

(4) Neither I nor II is strong 

51. Answer the questions on the basis of the information given below : 

Seven varsity basketball players A, B, C, D, E, F and G are to be honoured at a 
special luncheon. The players will be seated on· the dais in a row. A and G have to 
leave the luncheon early and so must be seated at the extreme right. B will receive the 
most valuable player's trophy and so much be in the centre to facilitate presentation. 
C and Dare bitter rivals and therefore, must be seated as far apart as possible. 

Which of the following pairs ca~not b~ seated together ? 

(1) Band D (2) C and F (3) D and G (4) E and A 

52 .. Read the text and the statements carefully, and answer the questions . 

Four people of different nationalities live on the same side_ of a street in four houses 
each of different colors. Each person ·has a different favorite drink. The following 
additio1,1al information is also known: 

A. The Englishman iives in the red house. • 
B. The Italian drink tea. 

' 
C. The Norwegian lives in the first house on the left. 
D. In the second house from the right they drink milk. 
E. The Norwegian lives adjacent to the blue house. 

F. The Spaniard drinks fruit juice. 

G. Tea is drunk in the blue house. 

H. The white house is to the right of the red house. 

The Norwegian drinks : 

(1) Milk (2) Cocoa (3) Tea (4) Fruit Juice 
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11 53. Answer the que§tions on the basis of the information given below : A, B, C, D, E and Fare a group of friends. There are two house wives, one professor, one engineer, one accountant and one lawyer in the group. There are only two married couples in the group. The lawyer is married to D, who is a housewife . . No women in the group are either an engineer or an accountant. C, the accountant, is married to F, who is a professor. A is married to housewife.Eis not a housewife. How many members of group are males ? 
(1) 1 

(2) 3 

(3) 4 

( 4) Cannot be determined 

54. The first and the last ·parts of the sentence are numbered 1 & 6. The rest of the sentence, is split into four parts and named P, Q, Rand S. These four parts are not given in their proper order. 
Read the senten~e and find out which of the four combinations is correct? 
1. It was obvious 

P. made by him 

Q. submitted at the meeting · 

R. from the comments 

S. on the draft proposals 
, I 

6. that.he was not satisfhed with them. 

(i) QRSP (2) SQRP 

55. 

(3) RPSQ 

· hi 63 If he got 20 more marks in 
. tion the average marks of Ro t are . In an exam.ma ks in Mathematics then his average would have been 69. 

Science and -28 more mar . , Find the total number of subjects he studied : 
(3) 10 

(4) PSRQ 

(1) 7 (2) 8 (4) 12 
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56. Study the following pie-chart carefully to answer these questions: 

Total Expenditure: Rs. 60 lacs 

Expenditure of funds by University for various purpose 

What is the difference between the expenditure made by univ~sity for Publication of 
Journals and Psychology Laboratory ? 

(1) Rs. 4 lacs (2) Rs. 3 lacs (3) Rs. 4.2 lacs (4) Rs. 3.8 lacs 

57. StudY. the following table and answer the questions: 

Oassification of 100 students based on the marks obtained by them in Physics and 

Chemistry in an Examination: 

Subjects Marks out of 50 

40and 30and 20and 10 andaboYe 0 and aboYe 

above above above 
. 

Physics 9 32 80 92 100 

Chemistry 4 21 66 81 100 

Average {Aggregate) 7 27 73 87 100 

What is the difference between the number of students passed with 30 as cut-off 

marks in Chemistry and those passed with 30 as cut-off marks in aggregate? 

(1) 3 (2) 4 (3) 5 (4) 6 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) 



D 13 

58. Answer the questions based on the following information : 

A, B, C and D are to be scaled in a row. But C and D cannot be together. Also B 
cannot be at the third place. If A and D arc together, then which of the following must 
be necessarily tme ? · 

(1) C is not at the first place 

(3) D is at the first place 

(2) A is at the third place 

(4) C is at the first place 

59. Answer the questions on the basis of t_he following information: 

Four families decided to attend ~he marriage ceremony of one of their colleagues. 
One family has no kids, while the others have at least one kid each. Each family with 
kids has at least one kid attending the marriage. 

Given below some information about the families and who reached when to attend 
I , 

the marriage :_ 

The family with 2 kids came just before the family with no kids. 

Shanti who does not have any kids reached just before Sridevi's family. 

Sunil and his wife reached last with their only kid. 

Anil is not the husband of Joya. 

Anil and Raj are fathers. 

Sridevi's and Anita's daughters go to the same school. 

Joya came before Shanti and met Anita when she reached the venue. 

Raman stays the farthest from the venue. 

Raj said his son could not come because of his exams. 

Name the correct pair of husband and wife : 

(1) Raj and Shanti 

(2) Sunil and Sridevi 

(3) Anil and Sridevi 

(4) Raj and Anita 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) P. T. 0. 
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60. Answer the questions on the basis of the information given below: 

The seven basic symbols in a certain numeral system and their respective values are 

as follows: 

I= 1, V = 5, ?( = 10, L = 50, C = 100, D = 500 and M = 1000 

In general, the symbols in the numeral system are read from left to right, starting with 

the . symbol representing t~e largest value; the same . symbol cannot occur 

continuously more than three times; the value of the numeral is the sum of ~he values 

of the symbols. For example, XXVII = 10 + 10 + 5 + 1 + 1 = 27. An exception to the 

left to right reading occurs when a symbol is foJJowed immediately by a symbol of 

greater value; then, the smaller value is subtracted from the larger. 

For example, XL VI = (50 - 10) + 5 + 1 = 46. 

The value of the numeral MCMXCIX is : 

(1) 1999 (2) 1899 (3) 1989 (4) 1889 

61. On reaching the railway station, you find that the train you wantec! to catch is just to 

start and there is hardly any time for purchasing the ticket. The best thing for you is 

to: 

(1) rush to the train rather ·than miss it and inform the T.T.I. at the next stoppage 

about your inability to purchase the ticket. 

(2) rush to the train and perform your journey quietly. 

" (3) .first purchase the ticket and then catch the train if it is there. 

(4)' miss the train rather than take the risk of boarding the moving train. 

62. Assertion : The problem solving ability, mental performance and memory . of the 

employees of company Care deteriorating. 
1 

RI. Due to tight schedule at company C, the employees of the company are skipping . 

their breakfast regularly. · 

RII. The job is physical in nature, but not mental. 

(1) Only RI and not RII is the reason for the assertion. 

(2) Only RII and not RI is the reason for the assertion. 

(3) Either RI or RII, but not both, is the reason for the assertion. 

(4) Neither RI nor RII is the reason for the assertion. 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) 
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hours of g season, new roads are constructed, there is twenty-four 
power suppl d I f . are provid d ~ y, goo supp y o water, and many other facilities · 

RI. Politi 11 e to the people. 
ca eaders Want t b . 

RII. Pollin ° em the good books of the people. 
g season that is tl . . 

name of pa t f 1e nghl;_ hme to convert black money to white money in the 
r Y Ul1ds for the industries. 

(1) Only RI and not RII . 
is the reason for the assertion. 

(2) Only RII and n t RI . 0 1s the reason for the assertion. 

(
3

) Eiilier RI or RII, but not both, is the reason for the assertion. 

(
4

) Neither RI nor RII is the reason for the assertion. 

64. Statements• All c . · arrots are birds. Some telephones are Carrots. All bedsheets are 
telephone. 

Conclusion : -

I. All bedsheet are birds 

II. Some bedsheet are birds 

III. Some birds are telephone 

IV. All telephone are birds 

(1) Only I follows 

(3) Only I and III follows 

(2) Only II follows 

(4) Only III follows 

65. Statements: Some pearls are gems. All gems are diamonds. No diamond is stone. 
Some stones are corals. 

Conclusions : 

L Some stones are pearls. 

II. Some c<?rals being diamond is possibility. 

Ill. No stone is pearl. 

(1) · Only conclusion I is true 

(2) Both conclusion I and III are true 

(3) Either conclusion I or II is true 

. (4) None of the above 

PG-EE-June, 2023/(Comp1;tter Science Group)(SET-X)/(D) P. T. 0. 



16 · 
. . rank from the last ? 

66. Nitin ranks 18th in a class of 49 students. What IS 

(1) 31 (2) 18 (3) 32 
(4) 19 

· 85 which are as far away from 

67. -How many such digits are there in the number 73462 d ' d 

h 
nged in ascen mg or er 

the beginning of the number, as they will be w en arra 

within the number? 

(1) None (2) One (3) Two 
(4) Three 

68 . . If the day before yesterday was Saturday, what day will fall on the day · after 

tomorrow? 

(1) Friday · (2) Thursday (3) Wednesday (4) Tuesday 

69. If the digits in the ~umber 25673948 are arranged in ascending orde~ from left to 

right, what will be the sum of the digits which are fourth from the right and third 

. ' 

from the left in the new arrangement ? 

(1) 10 (2) 9 (3) 8 (4) 6 

70. There are 6 persoi:is A, B,·c, D, E and F who have different rank in class test exam. 

Person A got last ·rank in dass. E was not first in class test rank. B got more marks 

than C, but he did not get second rank in class. E got more marks than only A. F was 

situated between D and Bin class _test ranking, and B score less than D. The second 

highest person got 92 marks. 

D got which of the foll(?wing possible marks r · 

(1) 89 · (2) 92 

71. What is the full form of WORM? 

(1) Write Once, Read More 

(2) Write Over, Read Mode 

(3) Write Once, Read Many 

(4) Write Out, Read Many 

(3) 93 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) 
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72~ What of the follow· . · mg is octal representation (in 4 digits) of decimal number (896)? (1) 3567 (2) 1600 

73. MSD refers to ? 

(l) Many Significant Digit 

(2) Most Significant Decimal 

(3) Multiple -Significant Digit 

(4) Most Significant Digit 

74. 2's complement of -14? 

(l)"-11110001 (2) 10010010 

(3) 1701 

(3) 11100001 

75. Which of the following is invalid hexadecimal ? 

(1) 0A23 (2) AB14 (3) XA23 

76. Which of the following is false ? 

(4) 1654 

(4) 01010110 

(4) 1234 

(1) 2's complement of a 2's complement of a number I the number itself. 
(2) Excess-3 code for 369 is 011110011100 

(3) 1-bit gray code has two code words O and 1 

17 

(4) In 7-bit hamming code of BCD, the parity bits are placed at 1, 2 and 4 
locations. { 
. 

77. What is bootstrapping ~alled ? 

(1) Hot Boot (2) Cold Boot 

(3) Cold hot strap (4) Hot bootstrap 

78. Which of the following is system software ? 

(1) Operating System 

(3) . Compiler 

(2) Utilities 

(4) All of the above 

' 
\ 
\, 
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79. Which of the following payment card has a microchip embedded in its surface ? 

(1) Debit Card 

(3) Metro Card 

(2) Credit Card · 

(4) Charge Card 

80. Which of the following is a condition that causes deadlock? 

(1) Grcular Wait 

(3) Hold and Wait 

(2) Mutual Exclusion 

(4) All of the above 

81. If p x q = p + q + p , what is the value of 8 x 2 ? 
q 

(1) 6 (2) 10 (3) 14 

82. If 0.13 x p2 = 13, then pis equal to: 

(1) 10 (2) 0.01 (3) 0.001 

(4) 16 

(4) 100 

83. If A= {5, 6} and B = {7, 8}, then what is the number of relations from A to B ? 

(1) 22 
(2) 23 (3) 24 (4) 25 

0 

84. If A = {l, 2, 3, 4, 5, 7, 8, 9} and B = {2, 4, 6, 7, 9}, then find number of proper subsets of 
AnB? 

(1) 14 (2) 15 (3) 32 (4) 33 

85. The magnitude of the vector 6i + 2j + 3k: 

(1) 5 (2) 6 (3) 7 (4) 8 

86. (sin30° + cos30°) - (sin 60° + cos 60°) : 

(1) 0 (2) 1 (3) 2 (4) -1 

87. If x = 7-4J3, then what is the value of Jx + ~ ? 
. -vX 

(1) 1 (2) 2 (3) 3 (4) 4 

88. The scalar product of Si + j - 3k and 3i - 4j + 7k is : 

(1) 15 (2) -15 (3) 10 (4) -10 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) 
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89 The angle of elevati f . • · dd . on ° a ladder leaning against a wall 1s 60° and the foot of the 
1
. la er is 4·6 m away from the wall. The length of ladder is : · 

(l) 2·3 m (2) 4.6 m . (3) 7.8 m (4) 9.2 m I\ 

90, A_n. urn contains 6 red, 4 blue, 2 green and 3 yellow marbles. If two marbles are 1 

picked up at random, what is the probability that either both are green or both are yellow? 

(1) 5/91 

(3) 4/105 
(2) 1/3 

(4) None of the above 

91. Which among the ~ollowing OS does not implement multitasking truly? 
(1) Windows NT (2) Windows 98 

(3) Windows XP (4) MS DOS 

92. In computers, subtraction is carried out by : 

(1) l's complement 

(3) 2's complement 

(2) 9's complement 

(4) l0's complement 

93. Which of the following is not the weighted code ? 

(2) Excess-3 code (1) Decimal number system 

(3) Binary number system (4) None of the above 

94. Cache memory acts between : 

(1) RAM and ROM 

(3) CPU and Hard Disk 

95. 101111 - 010101 =? 

(1) 100100 (2) 011010 

96. Keyboard shortcut for redo: 

(1) Ctrl +Z (2) Ctrl+ Y 

(2) CPU and RAM 

(4) None 

. (3) 011001 · 

(3) Ctrl + X 

-EE-June, 2023/(C~mputer Science Group)(SET-X)/(D) 
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97. 1101 + 1100 in binary arithmetic? 

(1) 11001 (2) 1100 (3) 1001 (4) 0011 

98. The address technique employed by a CPU is : 

{1} Direct (2) Indirect 

{3} Immediate (4) All of the above 

99. Keys to switch between applications running in Windows OS : 

(1) Ctrl + Tab 

(3) Shift .+ Tab 

100. (10.10) X (01.01) 

(1) 011.0010 

(3) 001.1101 

(2) Alt+ Tab 

(4) Fn + Tab 

(2) 110.0011 

(4) None of the above 

PG-EE-June, 2023/(Computer Science Group)(SET-X)/(D) 
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